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B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2024 

First Semester 

Commerce with Computer Applications 

ADVANCED ACCOUNTANCY – I 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. What is meant by double entry system? 

 Cμmøh £vÄ •øÓ Gß£uß ö£õ¸Ò GßÚ? 

2. Define Ledger. 

 ÷£÷μk – I Áøμ¯Ö. 

3. What is meant by error of omission? 

 Âk¤øÇ Gß£uß ö£õ¸Ò GßÚ? 

4. State the any two importance of Bank Reconciliation 
statement. 

 Á[Q \›Pmku¼ß •UQ¯zxÁ® CμsiøÚ TÖP. 

5. Write short note on Scrap value.  

 SøÓ©v¨¦&I £ØÔ ]Ö SÔ¨¦ ÁøμP. 

6. Mention any two objectives of depreciation. 

 ÷u´©õÚzvß ÷|õUP[PøÍ H÷uÝ® CμsiøÚ TÖP. 
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7. What is balance sheet? 
 C¸¨¦ {ø» SÔ¨¦ GßÓõÀ GßÚ? 

8. What do you understand by accommodation bill? 
 £nÁ\v Esi¯À SÔzx }Âº ¦›¢x öPõshx GßÚ? 

9. What is fire insurance? 
 w Põ¨¥k GßÓõÀ GÚÚ? 

10. Write a few line on salvage. 
 Põ¨£õØÓ¨£mh ö£õ¸Ò SÔzx K›¸ Á›PÒ GÊxP. 

 Part B  (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Point out the concepts of accounting. 
  PnUQ¯¼ß P¸zxPøÍ _miU Põmk. 

Or 

 (b) Distinguish between journal and ledger. 
  SÔ¨÷£k ©ØÖ® ÷£÷μmkUS Cøh°»õÚ ÷ÁÖ£õk 

¯õx? 

12. (a) Identify the different kinds of errors. 
  £À÷ÁÖ ÁøP¯õÚ ¤øÇPøÍ Aøh¯õÍ® PõsP. 

Or 

 (b) The bank overdraft of Balaji on 31.12.93 per cash 
book is Rs. 9,000. From the following particulars, 
prepare bank reconciliation statement:  

  (i) Unpresented cheques Rs. 3,000. 

  (ii)  Uncleared cheques Rs. 1,700. 

  (iii) Bank interest debited in the pass book only 
Rs. 500. 

  (iv) Bill collected and credited in the pass book 
only Rs. 800. 

  (v) Cheque of Renu dishonoured Rs. 500. 
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  £õ»õâ°ß öμõUP ¦zuPzvÀ ¹. 9,000 ªøP¨ £ØÖ 

31.12.93 AßÖ EÒÍx. öPõkUP¨£mh 
ÂÁμ[PÎ¼¸¢x Á[Q PnUøPa \›UPmh® 
£mi¯À u¯õº ö\´P. 

  (i) ö\¾zu¨£hõu Põ÷\õø» ¹. 3,000. 

  (ii)  RÎ¯º ö\´¯õu Põ÷\õø» ¹. 1,700. 

  (iii) Á[Q Ámi, Á[Q £õì ¦zuPzvÀ ¹. 500 £ØÖ 

øÁUP¨£mhx. 

  (iv) Esi¯À ö£Ó¨£mk, ÁμÄ øÁUP¨£mkÒÍx. 
Á[Q £õì ¦zuPzvÀ ©mk® ö\´¯¨£mhx  

¹. 800. 

  (v) ÷μÝÂß Põ÷\õø» {μõP›UP¨£mhx ¹. 500. 

13. (a) Classify the basic factors affecting the amount of 
depreciation. 

  ÷u´©õÚzvß AÍøÁ £õvUS® Ai¨£øh 
PõμoPøÍ ÁøP¨£kzxP. 

Or 

 (b) A company acquired a machine on 1.1.88 at a cost of 
Rs. 40,000 and spent Rs. 1,000 on its installation. 
The firm writes off depreciation at 10% on the 
diminishing balance. The books are closed on 31st 
December of each year. Show the machinery 
account for 3 years.  

  1.1.88 AßÖ J¸ {ÖÁÚ® ¹. 40,000 ©v¨¦ÒÍ J¸ 

C¯¢vμzøu Áõ[Q ¹. 1,000 {ÖÄøP ö\»Ä 

ö\´QÓx. A¢{ÖÁÚ® 10 \uÃu® SøÓ¢x ö\À 
©v¨¦ •øÓ°À ÷u´©õÚ® GÊxQÓx. JÆöÁõ¸ 

Bsk® i\®£º 31&À PnUS •iUP¨£kQÓx. 
‰ßÖ BskPÐUS C¯¢vμ PnUøP Põs¤UPÄ®. 
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14. (a) Prepare a trading for the year ended 31st December 
2013 from the following information:  

 Rs. 

Opening stock 1,00,000 

Purchase 5,00,000 

Wages 25,000 

Carriage inward 20,000 

Salaries 60,000 

Sales 10,00,000 

  RÌPõq® ÂÁμ[PøÍU öPõsk 31.12.2013&ØPõÚ 
Â¯õ£õμ PnUQøÚ u¯õº ö\´P. 

 ¹. 

öuõhUP \μUQ¸¨¦ 1,00,000 

öPõÒ•uÀ 5,00,000 

T¼ 25,000 

EÒyUS T¼ 20,000 

Fv¯® 60,000 

ÂØ£øÚ 10,00,000 

Or 

 (b) Elaborate the advantages of bill of exchange. 

  ©õØÖa^miß |ßø©PøÍ Â›ÁõP ÂÁ›. 

15.  (a) What are the steps for ascertaining claims for loss 
of stock? 

  \μUS CÇ¨¤À Põ¨¥k ÷Põm¦›ø© ÷Põ¸® 
ö\¯À•øÓø¯ ÂÍUSP. 

Or 
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 (b) A fire occurred at the premises of a trader on 
31.5.06 destroying a great part of his goods. His 
stock at 1.1.06 was Rs. 60,000. The value of stock 
salvaged was Rs. 13,500. The Gross profit on sales 
was 30% and sales amounted to Rs. 1,53,000 from 
January to date of fire, while for the same period 
the purchases amounted to Rs. 1,03,500. Prepare a 
statement of claim.  

  J¸ Â¯õ£õ›°ß PmihzvÀ 31.5.06&CÀ w Â£zx 
HØ£mk, AÁ¸øh¯ ö£¸® £Sv¯õÚ ö£õ¸mPÒ 

÷u\©øh¢uÚ. 1.1.06&À AÁ¸øh¯ \μUQ¸¨¦  

¹. 6,000. w°À ÷\u©øh¯õu \μUQß ©v¨¦  

¹. 13,500 ö©õzu »õ£ ÂQu® ÂØ£øÚ°À 30% 
©ØÖ® áÚÁ› •uÀ Â£zx |õÒ Áøμ ÂØ£øÚ  

¹. 1,53,000. A÷u Põ»zvØPõÚ öPõÒ•uÀ  

¹. 1,03,500. Põ¨¥mkU ÷Põ›UøP ©Ý u¯õ›UP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Journalise the following transactions, post them in the 
ledger and balance the accounts as on 31st Dec. 2003.  

Dec  

1 Rajini started business with a capital of Rs. 50,000 

2 He purchases furniture for Rs. 5,000 

3 He bought goods on credit from Vinod for Rs. 8,000 

14 He sold goods to Suresh for Rs. 5,000 

15 He received cash from Suresh Rs. 3,000 

18 He purchased goods for cash Rs. 12,000 
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 ¤ßÁ¸® |hÁiUøPPøÍ SÔ¨÷£k ö\´x, AøÁPøÍ 
÷£÷μmkUS Gkzxa ö\ßÖ, i\®£º 31, 2003 AßÖ 
PnUSPøÍa \©ß£kzx. 

i\®£º  

1 μâÛ ¹. 50,000 •u¾hß Â¯õ£õμzøu 
Bμ®¤zuõº 

2 AÁß AøÓP»ß Áõ[Q¯x ¹. 5,000 

3 Â÷Úõzvhª¸¢x PhÝUS \μUSPøÍ 
Áõ[Q¯x ¹. 8,000 

14 _÷μèUS \μUSPÒ ÂØÓx ¹. 5,000 

15 AÁº _÷μæhª¸¢x £n® ö£ØÓx ¹. 3,000 

18 AÁº öμõUPzvØS \μUSPÒ Áõ[Q¯x  
¹. 12,000 

17. An accountant could not tally the trial balance. The 
difference was temporarily placed to suspense account for 
preparing the final accounts. The following errors were 
later discovered.  

 (a) Commission of Rs. 50 paid, was posted twice, once 
to discount account and once to commission account. 

 (b) The sale book was under cast by Rs. 100. 

 (c) A sale of Rs. 278 to Raja through correctly entered 
in sales book, was posted wrongly to his account as 
Rs. 386. 

 (d) A purchase from Nataraj of Rs. 184, through 
correctly entered in purchases book, was wrongly 
debited to his personal account. 

 (e) Discount column of the receipt side of the cash book 
was wrongly added as Rs. 280 instead of Rs. 240.  

  You are required to pass the necessary rectifying 
entries and prepare suspense account. 
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 PnUPõÍº uß PnUS \›Pmh •i¯ÂÀø». CvÀ EÒÍ 
Âzv¯õ\zøu uØPõ¼P©õP J¸ AÚõ©zx PnUS ©õØÔ 
CÖv PnUSPøÍ u¯õº ö\´uõº. ¤ÓS SÔ¨¤mh 
¤øÇPøÍ Psk¨¤izuõº.  

 (A) uμS ¹. 50 ö\¾zv¯øu C¸•øÓ PnUQÀ 
PõmiÚõº. PÈÄ PnUS ©ØÖ® uμÄPnUS 
Põmi²ÒÍõº. 

 (B) ÂØ£øÚ ¦zuP® ¹. 100 SøÓzx Põmh¨£mkÒÍx.  

 (C) ¹. 278 μõáõÂh® ÂØ£øÚ ö\´ux. ÂØ£øÚ 
¦zuPzvÀ £v¯¨£mhx. BÚõÀ uÁÖu»õP AÁμx 
PnUQÀ ¹. 386. 

 (D) |hμõä°h® ¹. 184 öPõÒ•uÀ ö\´ux, öPõÒ•uÀ 
¦zuPzvÀ £v¯¨£mhx. BÚõÀ AÁ¸øh¯ 
PnUQÀ £ØÖ øÁUP¨£mkÒÍx uÁÖu»õP 
C¸UQÓx. 

 (E) PÈÄ Á›, ö£ÖuÀ £UPzvÀ, öμõUP ¦zuPzvÀ 
uÁÖu»õU ¹. 240ØS £v»õP ¹. 280 GÚ 
Tmh¨£mhx.  

  ÷uøÁ¯õÚ \›PmkuÀ £vÄPøÍ²® AÚõ©zx 
PnUøP u¯õº ö\´P. 

18. A firm purchases a 5 year’s lease for Rs. 80,000 on 1st 
January. It decides to write off depreciation on the 
annuity method, presuming the rate of interest to be 5% 
per annum. The annuity tables show that a sum of  
Rs. 18,478 should be written off every year. Show the 
lease account for five years. Calculating are to be made to 
the nearest rupee. 

 áÚÁ› 1À J¸ {Ö©® ¹. 80,000US 5 Á¸h[PÐUPõÚ 
J¸ SzuøPø¯ öPõÒ•uÀ ö\´ux. Ax ÷u´©õÚzvøÚ 
Bsk \¢uõ •øÓ°À ÷£õUöPÊxÁuõP 
wº©õÛUP¨£mhx. BskUS 5% Ámi°øÚ ö\¾zu 
HØ£õk ö\´ux. JÆöÁõ¸ Á¸h•® Bsk \¢uõ 
AmhÁøn Põs¤US® öuõøP¯õÚ ¹. 18,478&ø¯ 
÷£õUöPÊu¨£mhx. I¢x Á¸h[PÐUPõÚ SzuøP 
PnUQøÚ Põs¤UPÄ®. PnURmiøÚ ¹£õ´US {PμõP 
E¸ÁõUPÄ®. 
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19. Distinguish between Balance Sheet and Trial Balance. 

 C¸¨¦{ø» SÔ¨¦ ©ØÖ® C¸¨£õ´ÄUS® EÒÍ 
÷ÁÖ£õkPøÍ TÖP. 

20. On 31.12.2016 the godwon of a business man was 
destroyed by fire. From the records following information 
could be gathered. The amount of policy Rs. 1,50,000.  

Particulars 2014  
Rs. 

2015  
Rs. 

2016  
Rs. 

Sales 6,00,000 5,50,000 6,48,000

Gross profit 1,80,000 98,000 – 

Opening stock – – 1,65,000

Purchase – – 4,60,000

Salvages – – 11,000

 Calculate the amount of claim for insurance. 

 31.12.2016&À Â¯õ£õ›°ß Qh[QÀ w Â£zx HØ£mk 
•ÊÁx® ÷\u©øh¢uÚ. HkPÎ¼¸¢x RÌÁ¸® uPÁÀPÒ 
©mk÷© ÷\P›UP¨£mhÚ Põ¨¥mk £õ¼] öuõøP  
¹. 1,50,000. 

Â£μ[PÒ 2014  
¹. 

2015  
¹. 

2016  
¹. 

ÂØ£øÚ 6,00,000 5,50,000 6,48,000

ö©õzu C»õ£® 1,80,000 98,000 – 

öuõhUP \μUS – – 1,65,000

öPõÒ•uÀ – – 4,60,000

Põ¨£õØÔ¯ \μUSPÒ – – 11,000

 Põ¨¥miØPõÚ ÷Põ›UøPz öuõøP PnUQhÄ®. 

———————— 



  

S–5100   

B.Com.(C.A.) DEGREE EXAMINATION,  
NOVEMBER 2024 

First Semester 

Commerce with Computer Application 

FUNDAMENTALS OF COMPUTER 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define – Computer. 

 Po¨ö£õÔ – ÁøμÂ»UPn® u¸P. 

2. Define – File. 

 ÷Põ¨¦ – ÁøμÂ»UPn® u¸P. 

3. What is Communication? 

 uPÁÀ öuõhº¦ GßÓõÀ GßÚ? 

4. What is FTP? 

 GL¨.i.¤. GßÓõÀ GßÚ? 

5. Give any two examples of Real Time Operating System. 

 ›¯À øh® B¨£÷μmi[ •øÓ°ß H÷uÝ® Cμsk 
Euõμn[PøÍU öPõk. 

Sub. Code 
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6. Define – Data Management. 

 uPÁÀ ÷©»õsø© – ÁøμÂ»UPn® u¸P. 

7. What is File Directory? 

 ÷Põ¨¦ ÷\P›¨£õß GßÓõÀ GßÚ? 

8. What is Operating system? 

 ö\¯À•øÓ GßÓõÀ GßÚ? 

9. Define – GUI. 

 â.².I. – ÁøμÂ»UPn® u¸P. 

10. Write the Concept of NT. 

 Gß.i. GßÓ £uzvøÚ £ØÔ GÊxP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the uses of Computers? 

  Po¨ö£õÔ°ß £¯ßPÒ ¯õøÁ? 

Or 

 (b) State the components of a computer. 

  Po¨ö£õÔ°ß £SvPøÍU SÔ¨¤kP. 

12. (a) State the need of Communication. 

  uPÁÀ öuõhº¤ß ÷uøÁø¯U SÔ¨¤kP. 

Or 

 (b) What are the components of a Network? 

  Áø»¨¤ßÚ¼ß – Ai¨£øhU TÖPÒ ¯õøÁ? 



S–5100 

  

  3

13. (a) What are the major parts of UNIX operating 
system? 

  ²ÛUì C¯UP •øÓ°ß •UQ¯ £SvPÒ ¯õøÁ? 

Or 

 (b) Write short notes on “Multi Tasking Operating 
System”. 

  £À£o C¯UP•øÓ £ØÔ ]Ö SÔ¨¦ ÁøμP. 

14. (a) Distinguish between UNIX operating system and 
UNIX file system. 

  ²ÛUì C¯UP •øÓ ©ØÖ® ²ÛUì ÷Põ¨¦ •øÓ 
÷ÁÖ£kzxP. 

Or 

 (b) Identify the functions of DOS. 

  D.O.S.ß £oPøÍ Aøh¯õÍ¨£kzxP.  

15.  (a) Write short notes on “Windows Explorer”. 

  Âß÷hõì GUì¦÷Íõμº £ØÔ ]Ö SÔ¨¦ ÁøμP. 

Or 

 (b) Briefly explain the icons appeared in Windows 95. 

  Âß÷hõì 95À ÷uõßÖ® E¸Á[PÒ £ØÔ _¸UP©õP 
ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Evolve the five generations of a computer. 

 J¸ Po¨ö£õÔ°ß I¢x uø»•øÓPøÍ E¸ÁõUSP. 

17. Discuss the media of Communication. 

 uPÁÀ öuõhº¤ß \õuÚ[PøÍ ÂÁõvUP. 
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18. Explain the functions of an operating system. 

 C¯UP •øÓ°ß £oPøÍ ÂÍUSP. 

19. How can you work with files, file security and file 
directory? 

 } GÆÁõÖ ÷Põ¨¦, ÷Põ¨¦ £õxPõ¨¦ ©ØÖ® ÷Põ¨¦ 
_Ái²hß £o ö\´Áõ´? 

20. Describe the salient features of Windows 98. 

 Âs÷hõì 98ß ]Ó¨¤¯À¦PøÍ ÂÍUSP. 

———————— 
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Second Semester 

Commerce with Computer Application 

ADVANCED ACCOUNTANCY – II 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. What is Revenue Expenditure? 

 |øh•øÓ ö\»Ä GßÓõÀ GßÚ? 

2. What is Capital Receipts? 

 ‰»uÚ ÁμÄ GßÓõÀ GßÚ? 

3. What is an Average Due Date? 

 \μõ\› uÁøn |õÒ GßÓõÀ GßÚ? 

4. Write a short notes on product methods. 

 ö£¸USz öuõøP •øÓ ]ÖSÔ¨¦ ÁøμP. 

5. What is Abnormal loss? 

 A\õuõμn |mh® GßÓõÀ GßÚ? 

6. What is consignment? 

 AÝ¨¥k GßÓõÀ GßÚ? 

Sub. Code 
22BCC2C1 



S–5101 

  

  2

7. Write a short notes on Memorandum Joint Venture. 

 CønÂøÚU SÔ¨¦ •øÓ ]Ö SÔ¨¦ ÁøμP. 

8. What is Invoice Price? 

 Chõ¨¦ Âø» GßÓõÀ GßÚ? 

9. What is statement of affairs? 

 {ø» AÔUøP GßÓõÀ GßÚ? 

10. Write a short notes on conversion method. 

 ©õØÖuÀ •øÓ ]ÖSÔ¨¦ ÁøμP. 

 Part B  (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b) questions. 

11. (a) Write a short notes on  

  (i) Legacy 

  (ii) Entrance fees 

  ]Ö SÔ¨¦ ÁøμP 

  (i) E°À öPõøh 

  (ii) ~øÇÄ Pmhn® 

Or 

 (b) Amount shown as expenditure on stationery in 
Income and expenditure a/c. 1,250 

  Stock of stationery on 1.1.2023 Rs. 300  
Stock of stationery on 31.12.2023 Rs. 50  
Creditors for stationery on 1.1.2023 Rs. 200  
Creditors for stationery on 31.12.2023 Rs. 130  
Advanced paid for stationery on 1.1.2023 Rs. 20  
Advanced paid for stationery on 31.12.2023 Rs. 30 

  From the above calculate the amount is to be shown 
receipts and payments account. 
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  ö£ÖuÀ ö\¾zxuÀ PnUQß £i GÊx ö£õ¸ÒPÒ 
ö\»ÄPÒ ¹. 1,250.  
1.1.2023 GÊx ö£õ¸ÒPÒ C¸¨¦ ¹. 300  
31.12.2023 GÊx ö£õ¸ÒPÒ C¸¨¦ ¹. 50  
1.1.2023 GÊx ö£õ¸ÒPÒ BÚ PhÜ¢÷uõº ¹. 200  
31.12.2023 GÊx ö£õ¸ÒPÒ BÚ PhÜ¢÷uõº  
¹. 130  
1.1.2023 GÊx ö£õ¸ÒPÒ BP •ß £n® 
ö\¾zv¯x ¹. 20.  
31.12.2023 GÊx ö£õ¸ÒPÒ BP •ß £n® 
ö\¾zv¯x ¹. 30.  
÷©ØPõq® Â£μ[PÎ¼¸¢x Á¸Áõ´ ©ØÖ® ö\»Ä 
PnUQÀ Põs¤UP ÷Ási¯ öuõøPø¯ PnUQkP. 

12. (a) What are the difference between sale and 
consignment? 

  ÂØ£øÚUS®  AÝ¨¥miØS® EÒÍ ÷ÁÖ£õkPÒ 
¯õøÁ? 

Or 

 (b) In consignment how is the stock valued? 

  AÝ¨¥miÀ \μUQ¸¨¦ GÆÁõÖ ©v¨¤h¨£kQÓx? 

13. (a) How average due data will be calculated? 

  \μõ\› uÁøn |õÒ GÆÁõÖ PnUQh¨£h ÷Ásk®. 

Or 

 (b) Kannan purchased goods from suresh the due date 
for payment in cash as follows.  
April 1. Rs. 800 due June 6  

  April 30 Rs. 1,000 due August 3  

  June 6 Rs. 400 due July 6  

  July 15 Rs. 600 due September 18. 

  Suresh agreed to draw a bill for the total due on the 
average due data calculate. 
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  Psnß Gß£Áº _÷μè Chª¸¢x ö£õ¸Ò 
Áõ[QÚõº £n® ö\¾zu ÷Ási¯ uÁøn |õÒ 
¤ßÁ¸©õÖ.  
H¨μÀ 1 ¹. 800 uÁøn |õÒ ãß 6 

  H¨μÀ 30 ¹. 1,000 uÁøn |õÒ BPìm 3 

  ãß 6 ¹. 400 uÁøn |õÒ ãø» 6  

  ãø» 15 ¹. 600 uÁøn |õÒ ö\¨h®£º 18 

  \μõ\› uÁøn |õÒ AßÖ {¾øÁ öuõøP ö\¾zu 
_÷μè J¸ ©õØÖ ^møh ÁøμUQÓõº \μõ\› uÁøn 
|õÒ PnUQkP. 

14. (a) Write a short notes on capital accounts of  
co–ventures. 

  ]Ö SÔ¨¦ ÁøμP CønÂøÚbºPÎß ‰»uÚ 
PnUS. 

Or 

 (b) State the various features of Joint Venture Account. 

  CønÂøÚU PnUQß ]Ó¨¦ C¯À¦PøÍ ÂÍUSP. 

15.  (a) Calculate the profit and loss:  
Opening capital Rs. 50,000   
Closing capital Rs. 85,000   
Additional capital Rs. 12,000  
Drawings Rs. 7,000 

  öPõkUP¨mh ÂÁμzøu C»õ£ |mh® PnUQkP.  
öuõhUP •uÀ ¹. 50,000  
CÖv •uÀ ¹. 85,000  
TkuÀ •uÀ ¹. 12,000  
Gk¨¦ ¹. 7,000. 

Or 

 (b) State the features of single entry system. 

  JØøÓ £vÄ •øÓ°ß •UQ¯ A®\[PøÍ ÂÁ›. 



S–5101 

  

  5

 Part C  (3 × 10 = 30) 
Answer any three questions. 

16. The following is the Receipts and payments account of 
the Recreation club for the year ended 31st December 
2023.   

 Rs.  Rs. 
To balance bld 600 By rent 10,400
To Entrance fees 1,100 By stationery 6,136
To subscription 2023 400 By wages 10,660
To subscription 2024 33,800 By billard table 7,800
To subscription 2025 600 By Repairs and 

renewals 
1,612

To locker rent 1,000 By interest  3,000
To special 
subscription 
Governor’s party 

6,900 By balance c/d 4,792

 44,400  44,400

 Subscription unpaid 2023 its 936 special subscriptions for 
governor’s party outstanding Rs. 1,100 from the above 
information you are required to make out a income and 
expenditure account of the club for the year ending  
31st December 2023. 

 RÌ Põs£øÁ ö£õÊx ÷£õUS QÍ¨¤ß ö£ÖuÀ ö\¾zuÀ 
PnUS i\®£º 31, 2023 AßÖ  

 ¹.  ¹. 
C¸¨¦ R/öPõ 600 ÁõhøP 10,400
~øÇÄ Pmhn® 1,100 GÊxö£õ¸Ò 6,136
\¢uõ 2023 400 T¼ 10,660
\¢uõ 2024 33,800 ÂøÍ¯õmk ÷©øá 7,800
\¢uõ 2025 600 £Êx£õº¦ ©ØÖ® 

¦x¨¤zuÀ 
1,612

£õxPõ¨¦ ö£mhP 
ÁõhøP 

1,000 Ámi  3,000

PÁºÚ›ß 
Â¸¢xUS 
uÛa\¢uõ 

6,900 C¸¨¦ R/C 4,792

 44,400  44,400
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 ö\¾zuõu \¢uõ 2023 ¹. 936 PÁºÚº Â¸¢vØPõÚ uÛ 

\¢uõ ¹. 1,100 CÛ²® £õUQ²ÒÍx ÷©ØöPõsh 

Â£μ[PøÍ öPõsk i\®£º 31, 2023 •i²® 

BskUPõÚ Á¸Áõ´ ö\»ÂÚ PnUS u¯õº ö\´P. 

17. What are the methods of calculation of Interest in 

Account Current? 

 |h¨¦ PnUS •øÓ°À Ámi PnUQk® •øÓPøÍ 

ÂÁ›zx GÊxP. 

18. Siva consigned to Sai 48 cases of goods costing Rs. 5,000 

per cases. He incurred the following expenses in sending 

the consignment freight Rs. 8,500 Insurance Rs. 13,500 

Sai the consigned forwarded an account sales for the 

following sale of price 32 cases Rs. 2,10,000. Expenses 

incurred clearing Rs. 1,750 cartage Rs. 1,210 storage  

Rs. 2,000 Sai is entitled to a commission 7% on sales the 

market price of the goods prevailing at Sai place feel to 

Rs. 5,400 on the accounting date show the valuation of 

the stock at the end. 

 AhUP Âø»¯õÚ ¹. 5,000 Ãu® ]Áõ Gß£Áº \õ°US  

48 \μUS ö£miPøÍ AÝ¨¥k ö\´uõº AÝ¨¥k SÔzx 

AÁº ö\´u ö\»ÄPÒ BÁn \zu® ¹. 8,500 Põ¨¥k  

¹. 13,500 AÝ¨¥k ö£Ö|º BÚ \õ° AÝ¨¤¯ ÂØ£øÚ 

PnUS AÔUøP uõ[Q°¸¢u ö\´vPÒ BÁn  

32 ö£miPøÍ ÂØÓ öuõøP ¹. 2,10,000 ö\´¯¨£mh 

ö\»ÄPÍõÁÚ APØÖ Pmhn® ¹. 1,750 ÁsiUPmhn® 

¹. 1,210  £sh£õxPõ¨¦ ö\»Ä ¹. 2,000 \õ° 

Gß£Á¸US ÂØ£øÚ PÈÄ 7% BS® PnUQk® |õÎÀ 

\õ´ Gß£Á›ß {»Ä® \¢øu Âø» ö£mi JßÖUS  

¹. 5,400 CÓ[Q Âmhx CÖv \μUQ¸¨¦ GÆÁõÖ 

©v¨¤h¨£k® GÚUPõmkP. 
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19. Difference between Joint Venture and consignment. 

 Cøn Âøn PnUQ²® AÝ¨¥k PnUQøn²® 
÷ÁÖ£kzxU PõmkP. 

20. How will be the profit or loss ascertained under single 
entry system? 

 JØøÓ¨ £vÄ •øÓ°À C»õ£ |mh® GÆÁõÖ 
PnUQh¨£k®? 

  
———————— 
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B.Com. (C.A.) DEGREE EXAMINATION,  
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Second Semester 

Commerce with Computer Application 

OFFICE AUTOMATION 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Section A  (10 × 2 = 20) 

Answer all questions. 

1. What is meant by Network Computer? 

 ÁøÍ¨¤ßÚÀ Po¨ö£õÔ Gß£uß ö£õ¸Ò GßÚ? 

2. Define - Note Pad. 

 ÷|õm÷£k & ÁøμÂ»UPn® u¸P. 

3. What is Table? 

 ÷\õuøÚ¨ £mi¯À GßÓõÀ GßÚ? 

4. What is the use of Spell Checking? 

 ö\õÀ \›£õºzu¼ß £¯ß£õk GßÚ? 

5. What is Chart? 

 Áøμ£h® GßÓõÀ GßÚ? 

6. Define - Formula. 

 Ezv & ÁøμÂ»UPn® u¸P. 

Sub. Code 
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7. Define - Field. 

 PÍ® & ÁøμÂ»UPn® u¸P. 

8. What is Primary Key? 

 •ußø©z vÓÄ GßÓõÀ GßÚ? 

9. What is Power Point Presentation? 

 AÔUøP GßÓõÀ GßÚ? 

10. Define - Slide Show. 

 ÂÍUPUPõm] & ÁøμÂ»UPn® u¸P. 

 Section B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the different types of micro computers? 

  ~s PoÛPÎß £À÷ÁÖ ÁøPPÒ ¯õøÁ? 

Or 

 (b) Trace the Generation of Computers. 

  PoÛ°ß £À÷ÁÖ uø»•øÓPøÍ Aia_ÁikP. 

12. (a) Write short notes on Header and Footer. 

  uø»USÔ¨¦ ©ØÖ® AiUSÔ¨¦ £ØÔ ]ÖSÔ¨¦ 

GÊxP. 

Or 

 (b) How do you edit and print the text in MS. Word? 

  G®.ì. ÷Áºk BÁnzvß ‰»® GÆÁõÖ ©õØÖ 
©ØÖ® £vÄ ö\´Áx? 
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13. (a) How do you create and copying formula? 

  `zvμzøu } GÆÁõÖ E¸ÁõUP® ©ØÖ® 
|Pö»k¨£õ´? 

Or 

 (b) State the features of spread sheet. 

  Â›uõÎß ]Ó¨¤¯À¦PøÍU SÔ¨¤kP. 

14. (a) Identify the components of Database. 

  uμÄzuÍzvß £À÷ÁÖ TÖPøÍ 
Aøh¯õÍ¨£kzxP. 

Or 

 (b) Write the concept of "query" in Database. “” 

  uμÄzuÍzvÀ “÷Põº›PÒ” £ØÔ GÊxP. 

15. (a) How do you create Basic Presentation? 

  Ai¨£øh AÔUøPø¯ GÆÁõÖ E¸ÁõUSÁx? 

Or 

 (b) How do you add objects in Power Point 
Presentation? 

  AÔUøPU ö\¯¼À } GÆÁõÖ ¦Ó{ø»ø¯ 
÷\ºzxUöPõÒÁõ´? 

 Section C  (3 × 10 = 30) 

Answer any three questions. 

16. Describe the anatomy of a Digital Computer. 

 |ÃÚ C»UP•øÓ PoÛ°ß E¸ÁõUPzvøÚ ÂÍUSP. 

17. Explain in detail, the various part of MS word. 

 G®.ì. ÷Áºiß £À÷ÁÖ £SvPøÍ ÂÍUQ GÊxP. 
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18. Enumerate the steps to create a chart in MS Excel. 

 G®.Gì. GUé¼À Áøμ£hzvøÚ E¸ÁõUSu¼¾ÒÍ 
£i{ø»PøÍ GsoUøP°kP. 

19. Discuss the different types of report in MS Access. 

 G®.Gì. BUéêß £À÷ÁÖ AÔUøPPÎß ÁøPPøÍ 
ÂÁõvUP. 

20. Explain the various phases of Preparing slide show 
presentation in your content presentation. 

 ÂÍUPUPõm]°ß £À÷ÁÖ Pmh[PøÍ¨ £ØÔ ÂÍUSP. 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define the term Administration. 

 {ºÁõP® Gß£øu Áøμ¯Ö. 

2. Write short notes on FW Taylor. 

 G¨.h¤Ò³. öh´»º £ØÔ SÔ¨¦ ÁøμP. 

3. What is planning? 

 vmhªkuÀ GßÓõÀ GßÚ? 

4. Name the types of plans. 

 vmh[PÎß ÁøPPÎß ö£¯ºPøÍ u¸P. 

5. Define the term organisation chart. 

 Aø©¨¦ ÂÍUP¨£h® SÔ¨¦ ÁøμP. 

6. What is informal organisation? 

 •øÓ\õμõ Aø©¨¦ GßÓõÀ GßÚ? 

7. State any two characteristics of directing. 

 C¯USu¼À H÷uÝ® C¸ ußø©PøÍ TÖP. 

Sub. Code 
22BCCA2 



S–5103 

  

  2

8. What are the elements of communication? 

 uPÁÀ öuõhº¤ß £SvPÒ ¯õøÁ? 

9. Write any two objectives of control. 

 Pmk¨£kzu¼ß ÷|õUP[PÒ H÷uÝ® Cμsk TÖP. 

10. What are the steps in controlling? 

 Pmk¨£kzu¼ß {ø»PÒ ¯õøÁ? 

 Part B  (5 × 5 = 25) 

Answer all the questions. 

Choosing either (a) or (b) questions. 

11. (a) What are the disadvantages of management by 
objectives? 

  SÔU÷PõÒ EÒÍ ÷©»õsø©°ß wø©PÒ ¯õøÁ? 

Or 

 (b) Explain the functions of management. 

  ÷©»õsø©°ß £oPøÍ ÂÍUQ TÖP. 

12. (a) Explain the various objectives of planning. 

  vmhªku¼ß ÷|õUP[PøÍ ÂÍUQ TÖP. 

Or 

 (b) What are the characteristics of planning? 

  vmhªku¼ß C¯À¦PÒ ¯õøÁ? 

13. (a) Explain the various nature of organisation. 

  Aø©¨¦ •øÓ°ß ußø©PøÍ ÂÍUSP. 

Or 

 (b) What are the elements of organisation? 

  Aø©¨¦ •øÓ°ß A[P[PøÍ ÂÍUQ TÖP. 
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14. (a) Explain Maslow's theory of motivation. 

  ©õì÷»õÂß FUSÂ¨¦U ÷Põm£õmøh ÂÍUSP. 

Or 

 (b) What are the different types of leadership? 

  uø»ø©°ß £À÷ÁÖ ÁøPPÒ ¯õøÁ? 

15.  (a) Explain the various steps for controlling. 

  Pmk¨£kzxu¼À EÒÍ {ø»PøÍ ÂÍUSP. 

Or 

 (b) State the characteristics of an ideal control. 

  |À» Pmk¨£õmk •øÓ°ß C¯À¦PÒ ¯õøÁ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Enumerate the contributions of Henry Fayol for 
management thought. 

 ÷©»õsø© ]¢uøÚUS öíßÔ£¯õ¼ß £[S £oø¯ 
Á›ø\¨£kzxP. 

17. Explain the different types of planning. 

 vmhªku¼ß £À÷ÁÖ ÁøPPøÍ ÂÍUQ TÖP. 

18. What is the basics for departmentation in an 
organisation? 

 {ÖÁÚzvÀ xøÓPÍõUSÁuØPõÚ Ai¨£øh ¯õx? 

19. Explain the various steps for directing. 

 C¯USÂzu¼ß {ø»PøÍ ÂÍUQ TÖP. 

20. Explain the basic requirements of good controlling 
system. 

 |À» Pmk¨£õmk •øÓ°ß Ai¨£øh ÷uøÁPÒ 
ÂÍUSP. 

———————— 



  

S–5104   

B.Com (CA) DEGREE EXAMINATION, NOVEMBER 2024 

Third Semester 

Commerce with Computer Application 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. What is partnership deed? 

 Tmhõsø© Ehß£iUøP GßÓõÀ GßÚ? 

2. What is P & L Appropriation account? 

 C»õ£ |mh JxURk PnUS GßÓõÀ GßÚ? 

3. What is revaluation account? 

 ©Ö©v¨¥mk PnUS GßÓõÀ GßÚ? 

4. What is sacrificing ratio? 

 v¯õP ÂQu® GßÓõÀ GßÚ? 

5. What is Retirement cum admission? 

 K´Ä ©ØÖ® ÷\ºUøP GßÓõÀ GßÚ? 

6. What is joint life policy? 

 Tmk ÁõÌUøPU Põ¨¥k GßÓõÀ GßÚ? 

Sub. Code 
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7. What is insolvency ? 

 ö|õi¨¦{ø» GßÓõÀ GßÚ? 

8. What is normal dissolution? 

 \õuõμn Pø»¨¦ GßÓõÀ GßÚ? 

9. What is piecemeal distribution? 

 £Sv Â{÷¯õP® GßÓõÀ GßÚ? 

10. What is maximum loss method? 

 AvP£m\ CÇ¨¦ •øÓ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all the questions, either (a) or (b). 

11. (a) Capital accounts of Arul and Anandan stood at  

Rs.80,000 and Rs.60,000 respectively. After the 

necessary adjustments in respect of drawings and 

the net profits for the year. It was subsequently 

ascertained that 5% interest on capital and 

drawings was not taken into account in arriving at 

the net profit. The drawings of the partners had 

been as follows: 

  Arul: Rs.2,400 drawn at the end of each quarter, 

Anandan: Rs.3,600 drawn at the end of each  

half-year. The net profits shared by the partners 

before the above omission amounted to Rs.40,000.  

A and B shared profits in the ratio of 3:2.  

You are required to show the journal entries to 

correct the above omission. 



S–5104 

  

  3

  A¸Ò ©ØÖ® BÚ¢uÛß ‰»uÚU PnUSPÒ 
¹.80,000 ©ØÖ® ¹.60,000 •øÓ÷¯. Gk¨¦PÒ 
©ØÖ® Á¸hzvØPõÚ {Pμ »õ£® öuõhº£õP 
÷uøÁ¯õÚ ©õØÓ[PÐUS¨ ¤ÓS, {Pμ »õ£zøu 
ÁμÁøÇ¨£vÀ ‰»uÚ® ©ØÖ® Gk¨¦PÒ «uõÚ 5% 
Ámi PnUQÀ GkzxUöPõÒÍ¨£hÂÀø» Gß£x 
¤ßÚº EÖv ö\´¯¨£mhx. TmhõÎPÎß 
Gk¨¦PÒ ¤ßÁ¸©õÖ C¸¢uÚ: 

  A¸Ò: JÆöÁõ¸ Põ»õsk •iÂ¾® ¹.2,400, 
BÚ¢uß: JÆöÁõ¸ Aøμ¯õsk •iÂ¾® ¹.3,600 
Áøμ¯¨£mhx. ÷©ØTÔ¯ ¦ÓUPo¨¦US •ßÚº 
£[SuõμºPÒ £Qº¢x öPõsh {Pμ »õ£® ¹.40,000. 

A ©ØÖ® B 3:2 GßÓ ÂQuzvÀ »õ£zøu¨ £Qº¢x 
öPõshx. ÷©÷» EÒÍ uÁøÓa \› ö\´¯ SÔ¨÷£k 
£vÄ Põmh ÷Ásk®. 

Or 

 (b) Distinguish between fixed capital and  
fluctuating capital. 

  {ø»¯õÚ ‰»uÚ® ©ØÖ® ©õÖ£k® ‰»uÚ® 
BQ¯ÁØøÓ ÷ÁÖ£kzx[PÒ. 

12. (a) A and B are partners in a firm with capital of 
Rs.36,000 and Rs.32,000 respectively. They decide 
to admit ‘G’ into partnership firm with a capital of 
Rs.30,000. G is given 1/5th share in the future 
profits and losses. Give journal entries. 

  A ©ØÖ® B •øÓ÷¯ ¹.36,000 ©ØÖ® ¹.32,000 
‰»uÚ® öPõsh {ÖÁÚzvÀ £[SuõμºPÒ. 

¹.30,000 ‰»uÚzxhß ‘G’ {ÖÁÚzøu Tmhõsø© 
{ÖÁÚzvÀ ÷\ºUP •iÄ ö\´QÓõºPÒ.  

G US GvºPõ» »õ£® ©ØÖ® |èh[PÎÀ 1/5 £[S 
ÁÇ[P¨£kQÓx. SÔ¨÷£k £vÄ öPõk[PÒ. 

Or 
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 (b) M and D are partners sharing profits in the ratio of 

3:2. B joins them on 1-4-2023 for 1/3rd share.  

The following revaluation are agreed upon: 

  (i) Buildings to be appreciated by Rs.11,000; 

  (ii) Value of debtors to be reduced by Rs.1,000; 

  (iii) Investment which is not recorded in the books 

worth Rs.2,000. Give journal and prepare 

revaluation account. 

  M ©ØÖ® D BQ¯øÁ 3:2 GßÓ ÂQuzvÀ »õ£zøu¨ 

£Qº¢x öPõÒÐ® £[SuõμºPÒ. 1/3 £[SUS 

1&4&2023 AßÖ B AÁºPÐhß CønQÓõº. 

¤ßÁ¸® ©Ö©v¨¥kPÒ J¨¦U öPõÒÍ¨£kQßÓÚ: 

  (i) ¹.11,000 ©v¨¤»õÚ Pmih[PÒ; 

  (ii) PhÚõÎPÎß ©v¨¦ ¹.1,000 SøÓUP¨£k®; 

  (iii) ¹.2,000 ©v¨¦ÒÍ ¦zuP[PÎÀ £vÄ 

ö\´¯¨£hõu •u½k. 

   SÔ¨÷£k £vÄ öPõkzx ©Ö©v¨¥mkU 

PnUøPz u¯õ›UPÄ®. 

13. (a) ‘X’, ‘Y’ and ‘Z’ are partners sharing profits in the 

ratio of 2:2:1. ‘Y' dies on 31st March 2009. Accounts 

are closed on 31st Dec. Sales for the year 2008 

amounted to Rs.6,00,000. Sales of Rs.2,00,000 

amounted between the period of 1st Jan. 2009 and 

31st Mar. 2009. The profit for the year 2008 

amounted to Rs.60,000. Calculate the deceased 

partner’s share in the profit of the firm. 
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  ‘X’, ‘Y’ ©ØÖ® ‘Z’ BQ¯øÁ 2:2:1 GßÓ ÂQuzvÀ 

»õ£zøu¨ £Qº¢x öPõÒÐ® £[SuõμºPÒ. ‘Y’ 31 

©õºa 2009 AßÖ CÓ¢ux. PnUSPÒ i\®£º 31 

AßÖ ‰h¨£mhÚ. 2008 B® BskUPõÚ ÂØ£øÚ 

¹.6,00,000. ÂØ£øÚ ¹.2,00,000 áÚÁ› 1, 2009 

•uÀ 31 ©õºa 2009 Áøμ°»õÚ Põ»UPmhzvÀ 

C¸¢ux. 2008 B® BskUPõÚ »õ£® ¹.60,000. 

{ÖÁÚzvß »õ£zvÀ CÓ¢u £[Suõμ›ß £[øPU 

PnUQk[PÒ. 

Or 

 (b) A and B sharing profits in the ratio of 3:2 took out a 

joint life policy on 1-1-20 of Rs.20,000 for 20 years, 

paying annual premium of Rs.1,000. The surrender 

values were: 

  2020-Nil; 2021–Rs.200; 2021–Rs.550; 2022–Rs.970. 

B died on 8th March 2022 and the claim was 

received on 30th April. Prepare Joint life policy 

account. 

  A ©ØÖ® B 3:2 GßÓ ÂQuzvÀ »õ£zøu¨ £Qº¢x 

öPõÒÁx 1&1&20 AßÖ ¹.20,000UPõÚ Tmk 

ÁõÌUøPU öPõÒøPø¯ 20 BskPÐUS Gkzx, 

Bsk •øÚ©® ¹.1,000 ö\¾zxQÓx. \μnøhuÀ 

©v¨¦PÒ: 2020&§ä¯®; 2021&¹.200; 2021&¹.550; 

2022--&¹.970. B 8 ©õºa 2022 AßÖ CÓ¢uõº. ÷©¾® 

÷Põ›UøP H¨μÀ 30 AßÖ ö£Ó¨£mhx. Tmk 

ÁõÌUøPU Põ¨¥k PnUøPz u¯õ›UPÄ®. 
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14. (a) A, B and C commenced business on 1.1.90 with 
capitals of Rs.2,00,000, Rs.1,60,000 and Rs.1,20,000 
respectively. Profits and losses were shared in the 
ratio of 4:3:3. Capital carried interest at 5% p.a. 
During 1990 and 1991, they made profits of 
Rs.80,000 and Rs.1,00,000 (before allowing interest 
on capitals). Drawings of each partner were 
Rs.20,000 per year. On 31.12.1991, the firm was 
dissolved. Creditors on that date were Rs.48,000. 
The assets realized Rs.5,20,000 (net).  
Give the necessary accounts to close the books of the 
firm. 

  H, ¤ ©ØÖ® ] BQ¯øÁ •øÓ÷¯ ¹.2,00,000, 
¹.1,60,000 ©ØÖ® ¹.1,20,000 ‰»uÚzxhß 1.1.90 
AßÖ ÁoPzøuz öuõh[QÚ. »õ£® ©ØÖ® |èh® 
4:3:3 GßÓ ÂQuzvÀ £Qº¢x öPõÒÍ¨£mhx.  

1990 ©ØÖ® 1991 B® BskPÎÀ ‰»uÚ® 5% p.a. 
ÁmiUS Gkzxa ö\À»¨£mhx. AÁºPÒ ¹.80,000 
©ØÖ® ¹.1,00,000 (‰»uÚzvß «uõÚ Ámiø¯ 
AÝ©vUS® •ß) »õ£® DmiÚõºPÒ. JÆöÁõ¸ 
TmhõÎ°ß Gk¨¦PÒ Á¸hzvØS ¹.20,000. 
31.12.1991 AßÖ, {ÖÁÚ® Pø»UP¨£mhx. A¢u 
÷uv°À Phß öPõkzuÁºPÒ ¹.48,000. ö\õzxUPÒ 
¹.5,20,000 ({Pμ©õP) Dmh¨£mhÚ. {ÖÁÚzvß 
¦zuP[PøÍ ‰kÁuØS ÷uøÁ¯õÚ PnUSPøÍ 
öPõk[PÒ. 

Or 

 (b) Explain the rules laid down in Garner Vs Murray 
case. 

  PõºÚº Vs •º÷μ ÁÇUQÀ ÁSUP¨£mh ÂvPøÍ 
ÂÍUSP. 
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15.  (a) Following is the balance sheet of Mr.A, B and C who 
share profits and losses in the ratio of 2:2:1. 

Liabilities Rs. Assets Rs.

Sundry creditors 15,000 Cash in hand 2,000

Capital  Sundry debtors 12,000

A – 15,000  Stock 22,000

B – 12,000  Furniture 10,000

C – 4,000 31,000  

 46,000  46,000

  The firm was dissolved and assets were realized 
gradually. Rs.10,000 were received once, Rs.15,000 
another time and Rs.9,000 finally. Show how each 
installment is to be paid. 

  2:2:1 GßÓ ÂQuzvÀ C»õ£ |mh[PøÍ¨ £Qº¢x 
öPõÒÐ® Mr.A, B ©ØÖ® C Cß C¸¨¦{ø» 
¤ßÁ¸©õÖ. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹.

PhÜ¢÷uõº 15,000 Á[Q 2,000

‰»uÚ®  PhÚõÎPÒ 12,000

A – 15,000  \μUQ¸¨¦ 22,000

B – 12,000  ©μa\õ©õßPÒ 10,000

C – 4,000 31,000  

 46,000  46,000

  {ÖÁÚ® Pø»UP¨£mhx ©ØÖ® ö\õzxUPÒ 
£i¨£i¯õP Enμ¨£mhÚ. J¸•øÓ ¹.10,000, 
©ØöÓõ¸ •øÓ ¹.15,000, CÖv¯õP ¹.9,000 
ö£Ó¨£mhx. JÆöÁõ¸ uÁøn²® GÆÁõÖ 
ö\»zu¨£h ÷Ásk® Gß£øuU Põmk. 

Or 

 (b) Explain the different methods of making 
distribution under piecemeal distribution. 

  £Sv Â{÷¯õP® RÌ Â{÷¯õP® ö\´²® •øÓPøÍ 
ÂÍUS[PÒ. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. A, B and C are partners in a firm with capitals of  

Rs.40,000; Rs.24,000 and Rs.20,000 Respectively on  

1-1-2022. The partnership Deed contains the followings 

clauses. 

 (a) Interest on Capital @ 5% p.a;  

 (b) Interest on Drawings @ 4% p.a; 

 (c) ‘A’ to get Salary @ Rs.400 pm;  

 (d) B and C to get 10% commission each on the net 

profit.  

 (e) Profits and Losses to be shared:  

  (i) Upto Rs.4,500 in the ratio of 4:3:2; 

  (ii) Above Rs.4,500 equally. 

   The net profit of the firm for the year ended 

31st December 2022 amounts to Rs.20,500 and 

the Drawings of the partners are: A: Rs.2,400; 

B: Rs.1,600 and Prepare the Profit and Loss 

Appropriation Account and Capital Accounts 

of the partners assuming  

   (1) Capitals are Fixed and  

   (2) Capitals are fluctuating. 
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 H, ¤ ©ØÖ® ] {ÖÁÚzvÀ £[SuõμºPÒ ¹.40,000; 
¹.24,000 ©ØÖ® ¹.20,000 AßÖ •øÓ÷¯ 1&1&2022. 
Tmhõsø© £zvμ® ¤ßÁ¸® Em¤›ÄPøÍU 
öPõskÒÍx. 

(A) ‰»uÚzvß «uõÚ Ámi @ 5% p.a; 

(B) Gk¨¦PÒ «uõÚ Ámi @ 4% p.a; 

(C) \®£Í® ö£Ó ‘A’ @ ¹.400 ©õø»; 

(D) B ©ØÖ® C {Pμ »õ£zvÀ u»õ 10% Pªåß ö£Ó. 

(E) £Qº¢x öPõÒÍ¨£k® »õ£® ©ØÖ® |èh®: 

 (i) ¹. 4:3:2 GßÓ ÂQuzvÀ 4,500; 

 (ii) ¹£õ´US ÷©À. 4,500 \©©õP. 

  i\®£º 31, 2022 CÀ •iÁøh¢u BsiØPõÚ 
{ÖÁÚzvß {Pμ »õ£® ¹.20,500 ©ØÖ® 
£[SuõμºPÎß Áøμ£h[PÒ: A: ¹.2,400;  
B: ¹.1,600 ©ØÖ® 

  (1) ‰»uÚ[PÒ {ø»¯õÚøÁ ©ØÖ® 

  (2) ‰»uÚ[PÒ HØÓ CÓUPzxhß 
C¸¨£uõPU P¸v, £[SuõμºPÎß »õ£® 
©ØÖ® CÇ¨¦ JxURmkU PnUS ©ØÖ® 
‰»uÚU PnUSPøÍz u¯õ›UPÄ®. 

17. A and B are partners sharing profits in the ratio of  
3:1. Their Balance sheet stood as under on 31.3.2023. 
Liabilities Rs. Assets Rs.
Salary due 5,000 Stock 10,000
Creditors 40,000 Prepaid Insurance 1,000
Capital:  Debtors – 8,000 
A – 30,000  Less: Provision – 500 7,500
B – 20,000 50,000   
  Cash 18,500
  Machinery 22,000
  Buildings 30,000
  Furniture 6,000 
 95,000  95,000
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 C is admitted as a new partner introducing a capital of 

Rs.20,000, for his 1/4 share in future profits.  

Following revaluations are made:  

 (a) Stock be depreciated by 5%;  

 (b) Furniture be depreciated by 10%. 

 (c) Buildings be revalued at Rs.45,000.  

 (d) The provision for doubtful debts should be increased 

to Rs.1,000. 

  Prepare Revaluation a/c and Balance sheet after 

admission. 

 A ©ØÖ® B BQ¯øÁ 3:1 GßÓ ÂQuzvÀ »õ£zøu¨ 

£Qº¢x öPõÒÐ® £[SuõμºPÒ. AÁØÔß C¸¨¦{ø» 

31.3.2023 Cß RÌ C¸¢ux. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹.

\®£Í® {¾øÁ°À 5,000 \μUQ¸¨¦ 10,000

PhÜ¢÷uõº 40,000 •ßTmi ö\¾zv¯ •øÚ©® 1,000

‰»uÚ®: PhÚõÎPÒ – 8,000 

A – 30,000 (–) JxURk –     500 7,500

B – 20,000 50,000   

 öμõUP® 18,500

 C¯¢vμ[PÒ 22,000

 Pmih[PÒ 30,000

 ©μa\õ©õßPÒ 6,000

 95,000  95,000
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 GvºPõ» »õ£zvÀ uÚx 1/4 £[QØS ¹.20,000 

‰»uÚzøu AÔ•P¨£kzx® ¦v¯ TmhõÍμõP ] 

AÝ©vUP¨£kQÓõº. ¤ßÁ¸® ©Ö©v¨¥kPÒ 

ö\´¯¨£kQßÓÚ. 

 (A) £[S 5% ÷u´©õÚ®; 

 (B) ©μa\õ©õßPÒ 10% ÷u´©õÚ®. 

 (C) Pmih[PÎß ©Ö©v¨¥k ¹.45,000. 

 (D) \¢÷uPzvØS›¯ PhßPÐUPõÚ JxURmøh ¹.1,000 

BP E¯ºzu ÷Ásk®. 

  ÷\ºUøPUS¨ ¤ÓS ©Ö©v¨¥k a/c ©ØÖ® 

C¸¨¦{ø»z uõøÍz u¯õ›UPÄ®. 

18. A, B and C were partners sharing Profits in the ratio of 

3:2:1. Their Balance Sheet on 31.12.2023 was as follows: 

Liabilities Rs. Assets Rs.

Creditors 30,000 Cash at bank 1,10,000

Capital  Machinery 1,20,000

A – 1,40,000  Goodwill 1,00,000

B – 1,00,000   

C –    60,000 3,00,000  

 3,30,000  3,30,000

 The following steps were taken on 1.1.2023. 

 (a) C retired and his interest in the firm was valued at 

Rs.80,000. It was purchased by A and B form their 

private resources in their profit sharing proportion. 
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 (b) D was admitted and became entitled to 
6
1

th share 

of profits on the condition that A and B should be 
credited proportionately for goodwill amounting to 
Rs.60,000 to be brought in cash by D and he should 
bring in capital equal to ¼ of the combined capital 
of A and B after adjustments. Prepare partner’s 
capital accounts and show the opening balance 
sheet of the reconstituted firm as on 1.1.2024 

 A, B ©ØÖ® C BQ¯øÁ 3:2:1 GßÓ ÂQuzvÀ 
C»õ£zøu¨ £Qº¢x öPõÒÐ® £[SuõμºPÍõP C¸¢uÚ. 
31.12.2023 AßÖ AÁºPÎß C¸¨¦{ø» ¤ßÁ¸©õÖ: 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹.

PhÜ¢÷uõº 30,000 öμõUP® 1,10,000

‰»uÚ®  C¯¢vμ[PÒ 1,20,000

A – 1,40,000  |Øö£¯º 1,00,000

B – 1,00,000   

C –    60,000 3,00,000  

 3,30,000  3,30,000

 ¤ßÁ¸® |hÁiUøPPÒ 1.1.2023 AßÖ GkUP¨£mhÚ. 

 (A) C J´Äö£ØÓõº ©ØÖ® {ÖÁÚzvÀ AÁμx Ámi 
©v¨¦ ¹.80,000. Cx A ©ØÖ® B BÀ AÁºPÎß 
C»õ£¨ £QºÄ ÂQuzvÀ AÁºPÍx uÛ¨£mh 
ÁÍ[PøÍ E¸ÁõUSQÓx. 

 (B) D ¯õÀ öμõUP©õPU öPõsk Áμ¨£k® ¹.60,000 
|ß©v¨¦US A ©ØÖ® B ÂQuõa\õμ¨£i ÁμÄ 
øÁUP¨£h ÷Ásk® GßÓ {£¢uøÚ°ß ÷£›À D 
AÝ©vUP¨£mk »õ£zvÀ 1/6 £[SUS E›ø© 
ö£ØÓõº. \›ö\´u ¤ÓS A ©ØÖ® B Cß ‰»uÚ®. 
TmhõÍºPÎß ‰»uÚU PnUSPøÍz u¯õ›zx, 
1.1.2024 AßÖ ©Ö^μø©UP¨£mh {ÖÁÚzvß 
öuõhUP C¸¨¦{ø»U SÔ¨ø£U PõmhÄ®. 
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19. A and B are equal partners, whose Balance sheet on  
is as follows: 

Liabilities Rs. Assets Rs.
Creditors 3,900 Plant and Machinery 1,475
Capital A 600 Furniture 400
  Debtors 500
  Stock 625
  Bank 300
  B’s Capital 1,200
 4,500  4,500

 The assets were realised as follows: 
 Stock Rs.350, Furniture Rs.200, Debtors Rs.500 and 

Plant and Machinery Rs.700. The cost of collecting and 
distributing the estate amounted to Rs.150. A’ s private 
estate is not sufficient even to pay his private liabilities, 
where as in B’s private estate, there is a surplus  
of Rs.50. 

 Prepare Realisation A/c. Cash A/c, Creditors A/c,  
Capital A/c’s and the Deficiency A/c of the partners. 

 A ©ØÖ® B \© £[SuõμºPÒ, Auß C¸¨¦{ø» 
¤ßÁ¸©õÖ: 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹.
PhÜ¢÷uõº 3,900 Bø» ©ØÖ® C¯¢vμ[PÒ 1,475

‰»uÚ® A 600 ©μa\õ©õßPÒ 400

  PhÚõÎPÒ 500

  \μUQ¸¨¦ 625

  Á[Q 300

  B Cß ‰»uÚ® 1,200

 4,500  4,500

 ö\õzxUPÒ ¤ßÁ¸©õÖ Enμ¨£mhÚ. 

 \μUQ¸¨¦ ¹.350, ©μa\õ©õßPÒ ¹.200, PhÚõÎPÒ ¹.500 
©ØÖ® Bø» ©ØÖ® C¯¢vμ® ¹.700. Gì÷hmøh 
÷\P›zx Â{÷¯õQzuuØPõÚ ö\»Ä ¹.150, A Cß uÛ¯õº 
Gì÷hm AÁμx uÛ¨£mh PhßPøÍa ö\¾zxÁuØS¨ 
÷£õx©õÚuõP CÀø», A[S B Cß uÛ¯õº ÷uõmhzøu¨ 
÷£õ»÷Á, E£›¯õP EÒÍx ¹.50. 

 ©Ö©v¨¦ P/S I u¯õº ö\´¯Ä®. öμõUP P/S  
PhÜ¢÷uõº P/S ‰»uÚ® P/S ©ØÖ® TmhõÎPÎß 
SøÓ£õk P/S. 
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20. S, M and N share profits in the ratio of 4:3:2. They have 
decided to sell their firm to a Limited company on  
June 30, 2023. Their balance sheet on that date was  
as under: 

Liabilities Rs. Assets Rs.

Creditors 12,000 Land and Building 18,000

Capital Machinery 12,000

S  – 20,000 Debtors 15,000

M – 15,000 Stock 13,000

N – 13,000 48,000 Cash 2,000

 60,000  60,000

 Purchase consideration agreed upon was Rs.50,000. 
Of this company has paid Rs.32,000 in its own shares and 
the balance in cash. Dissolution expenses of the firm 
Rs.600 was paid by the company. 

 Give journal entries. 

 S, M ©ØÖ® N £[S »õ£® 4:3:2 GßÓ ÂQuzvÀ.  
áüß 30, 2023 AßÖ u[PÒ {ÖÁÚzøu J¸ ¼ªöhm 
{ÖÁÚzvØS ÂØP •iÄ ö\´xÒÍÚº. A¢u ÷uv°À 
AÁºPÎß C¸¨¦{ø» ¤ßÁ¸©õÖ: 
ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹.

PhÜ¢÷uõº 12,000 {»® ©ØÖ® Pmih® 18,000

‰»uÚ® C¯¢vμ[PÒ 12,000

S  – 20,000 PhÚõÎPÒ 15,000

M – 15,000 \μUQ¸¨¦ 13,000

N – 13,000 48,000 öμõUP® 2,000

 60,000  60,000

 öPõÒ•uÀ £›^»øÚ ¹.50,000. CvÀ {ÖÁÚ® ¹.32,000 
uÚx ö\õ¢u £[SPÍõPÄ® «vø¯ öμõUP©õPÄ® 
ö\¾zv²ÒÍx. {ÖÁÚzvß Pø»¨¦ ö\»Ä ¹.600 
{ÖÁÚzuõÀ ö\¾zu¨£mhx. SÔ¨÷£k £vÄ öPõk[PÒ. 

———————— 



  

S–5105   
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Commerce with Computer Applications 

BUSINESS STATISTICS 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Samples? 
 ©õv›PÒ GßÓõÀ GßÚ? 

2. What is Questionnaire? 
 ÷PÒÂzuõÒ GßÓõÀ GßÚ? 

3. What is Harmonic mean? 
 íõº÷©õÛU «ß GßÓõÀ GßÚ? 

4. What is Quartile Deviation? 
 Põ»õsk Â»PÀ GßÓõÀ GßÚ? 

5. What is Rank Correlation? 
 uμÁ›ø\ öuõhº¦ GßÓõÀ GßÚ? 

6. What is Frequency Distribution? 
 {PÌöÁs £QºÄ GßÓõÀ GßÚ? 

7. What is Index Numbers? 
 SÔ±mk Gs GßÓõÀ GßÚ? 

Sub. Code 
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8. What is Fixed Base on Index Number? 

 SÔ±mk GsoÀ {ø»¯õÚ Ai¨£øh GßÓõÀ GßÚ? 

9. What is Time Series? 

 ÷|μz öuõhº GßÓõÀ GßÚ? 

10. What is Simple Average? 

 GÎ¯ \μõ\› GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Brief about the Collection of Data Method. 

  uμÄ ÷\P›¨¦  •øÓ £ØÔ _¸UP©õP GÊxP. 

Or 

 (b) Elaborate the Rules of tabulation. 

  AmhÁøn ÂvPøÍ Â›Ä£kzuÄ® 

12. (a) Calculate mean from the following data:  

Nos 1 2 3 4 5 6 7 8 9 10

Marks 40 50 55 78 58 60 73 35 43 48

  ¤ßÁ¸® uμÄPÎ¼¸¢x \μõ\›ø¯U PnUQk[PÒ  

GsPÒ 1 2 3 4 5 6 7 8 9 10

©v¨ö£nUÒ 40 50 55 78 58 60 73 35 43 48

Or 

 (b) Calculate Harmonic Mean from the following data:  

Size of items 6 7 8 9 10 11

Frequency 4 6 9 5 2 8
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  ¤ßÁ¸® uμÄPÎ¼¸¢x íõº÷©õÛU \μõ\›ø¯U 
PnUQk[PÒ 

ö£õ¸mPÎß AÍÄ 6 7 8 9 10 11

AkUS |PÌÄ 4 6 9 5 2 8

13. (a) Find if there is any significant correlation between 
the heights and weights given below:  

Height in inches 57 59 62 63 64 65 55 58 57

Weight in lbs 113 117 126 126 130 129 111 116 112

  R÷Ç öPõkUP¨£mkÒÍ E¯μ[PÐUS® GøhUS® 
Cøh÷¯ H÷uÝ® SÔ¨¤hzuUP öuõhº¦ EÒÍuõ 
Gß£øuU PshÔ¯Ä® 

A[S» E¯μ® 57 59 62 63 64 65 55 58 57

£ÄskPÎÀ Gøh 113 117 126 126 130 129 111 116 112

Or 

 (b) A random Sample of 5 College Students is selected 
and their grades in Mathematics and Statistics are 
found to be:  

Subjects 1 2 3 4 5 

Mathematics 85 60 73 40 90

Statistics 93 75 65 50 80

  Calculate Spearman’s Rank Correlation Coefficient. 

  5 PÀ¿› ©õnÁºPÎß ÷μsh® ©õv› 
÷uº¢öukUP¨£mhx ©ØÖ® Pou® ©ØÖ® 
¦ÒÎ°¯À BQ¯ÁØÔÀ AÁºPÒ ö£ØÓ 
©v¨ö£sPÒ 

£õh[PÒ 1 2 3 4 5

Pou® 85 60 73 40 90

¦ÒÎÂÁμ[PÒ 93 75 65 50 80

  ì¤¯º÷©Ûß uμÁ›ø\ öuõhº¦ SnPzøuU 
PnUQk[PÒ 
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14. (a)  

Commodity Price in 2005 Price in 2006

A 90 95 

B 40 60 

C 90 110 

D 30 35 

  Construct an index number for 2006 taking 2005 as 
base 

Â¯õ£õμ \μUS 2005 CÀ Âø» 2006 CÀ Âø»

A 90 95 

B 40 60 

C 90 110 

D 30 35 

  2005I Ai¨£øh¯õPU öPõsk 2006UPõÚ SÔ±mk 
Gsøn E¸ÁõUPÄ® 

Or 

 (b) Taking 2001 as base, the index numbers of 
wholesale prices of a commodity are given below:   

Year 2001 2002 2003 2004 2005 2006 2007

Index Nos. 100 120 190 200 206 230 300

  Construct a new series taking 2004 as base. 

  2001I Ai¨£øh¯õP GkzxU öPõshõÀ, J¸ 
ö£õ¸Îß ö©õzu Âø»°ß SÔ±mk GsPÒ R÷Ç 
öPõkUP¨£mkÒÍÚ 

Bsk 2001 2002 2003 2004 2005 2006 2007

SÔ±mk GsPÒ 100 120 190 200 206 230 300

  2004 I Ai¨£øh¯õP öPõsk ¦v¯ öuõhøμ 
E¸ÁõUS[PÒ 
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15.  (a) Estimate the trend values using the data given 
below by taking 4 yearly moving average.  

Year 1974 1975 1976 1977 1978 1979 1980

Value 12 25 39 54 70 37 105

Year 1981 1982 1983 1984 1985 1986 1987

Value 100 82 65 49 34 20 7 

  4 Á¸hõ¢vμ |P¸® \μõ\›ø¯ Gkzx R÷Ç 
öPõkUP¨£mkÒÍ uμøÁ¨ £¯ß£kzv ÷£õUS 
©v¨¦PøÍ ©v¨¤hÄ® 

Bsk 1974 1975 1976 1977 1978 1979 1980

©v¨¦ 12 25 39 54 70 37 105

Bsk 1981 1982 1983 1984 1985 1986 1987

©v¨¦ 100 82 65 49 34 20 7 

Or 

 (b) Calculate the seasonal indices by the method of 
simple average for the following data: 

Year I Quarter II Quarter III Quarter IV Quarter

1985 68 62 61 63 

1986 65 58 66 61 

1987 68 63 63 67 

  ¤ßÁ¸® uμÄPÐUPõÚ GÎ¯ \μõ\› •øÓ°ß 
‰»® £¸ÁPõ» SÔ±kPøÍU PnUQhÄ® 

Bsk I Põ»õsk II Põ»õsk III Põ»õsk IV Põ»õsk

1985 68 62 61 63 

1986 65 58 66 61 

1987 68 63 63 67 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Describe the Planning and Design of Survey as 
Statistical. 

PnUöPk¨¤ß vmhªhÀ ©ØÖ® ÁiÁø©¨ø£ 
¦ÒÎ°¯À GßÖ ÂÁ›UPÄ® 

17. Find the Mean, Median and Modal ages of married 
women at first child birth. 

Age at the birth of first 
child 

13 14 15 16 17 18 19 20

No. of married women 37 162 343 390 256 433 161 355

Age at the birth of first 
child 

21 22 23 24 25    

No. of married women 65 85 49 46 40    

 •uÀ SÇ¢øu ¤ÓUS® ÷£õx v¸©n©õÚ ö£sPÎß 
\μõ\›, Cøh{ø» ©ØÖ® ©õv› Á¯øuU PshÔ¯Ä®  

•uÀ SÇ¢øu ¤ÓUS® 
÷£õx Á¯x 

13 14 15 16 17 18 19 20

v¸©n©õÚ ö£sPÎß 
GsoUøP 

37 162 343 390 256 433 161 355

•uÀ SÇ¢øu ¤ÓUS® 
÷£õx Á¯x 

21 22 23 24 25    

v¸©n©õÚ ö£sPÎß 
GsoUøP  

65 85 49 46 40    

18. Find out the Co-efficient of Correlation in the following 
case. 

Height of Father (in Inches) 65 66 67 67 68 69 71 73

Height of Son (in Inches) 67 68 64 68 72 70 69 70
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 ¤ßÁ¸® ÁÇUQÀ öuõhº¦PÎß Cøn–vÓøÚU 
PshÔ¯Ä®  

u¢øu°ß E¯μ® (A[S»zvÀ) 65 66 67 67 68 69 71 73

©PÛß E¯μ® (A[S»zvÀ) 67 68 64 68 72 70 69 70

19. From the Fixed base index number given below, prepare 
chain base index numbers: 

2002 2003 2004 2005 2006 2007

94 98 102 95 98 100

 R÷Ç öPõkUP¨£mkÒÍ {ø»¯õÚ Ai¨£øh SÔ±mk 
Gso¼¸¢x, \[Q¼ Ai¨£øh SÔ±mk GsPøÍz 
u¯õ›UPÄ® 

2002 2003 2004 2005 2006 2007

94 98 102 95 98 100

20. Calculate the trend value by 4 year moving averages 
method. 

Year 1978 1979 1980 1981 1982 1983

Production 614 615 652 678 681 655

Year 1984 1985 1986 1987 1988  

Production 717 719 708 779 757  

 4 Bsk |P¸® \μõ\› •øÓ ‰»® ÷£õUS ©v¨ø£U 
PnUQhÄ® 

Bsk 1978 1979 1980 1981 1982 1983

EØ£zv 614 615 652 678 681 655

Bsk 1984 1985 1986 1987 1988  

EØ£zv 717 719 708 779 757  

 

  
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is meant by Trade? 

 Â¯õ£õμ® GßÓõÀ GßÚ? 

2. Define – Employment. 

 ÷Áø»Áõ´¨¦ – ÁøμÂ»UPn® u¸P. 

3. Define – Co-operation. 

 TmkÓÄ – ÁøμÂ»UPn® u¸P. 

4. State any two name of Joint Stock Company. 

 Tmk¨ £[S {Ö©zvß H÷uÝ® Cμsk ö£¯ºPøÍU 

SÔ¨¤kP. 

5. Define – Net worth. 

 {Pμ©v¨¦ – ÁøμÂ»UPn® u¸P. 

Sub. Code 
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6. What is meant by Representative Firm? 

 ¤μv{v Aø©¨¦ Gß£uß ö£õ¸Ò GßÚ? 

7. Who is a Manager? 

 ÷©»õÍº Gß£Áº ¯õº? 

8. Define – Oligarchy. 

 ußÛ»USÊ – ÁøμÂ»UPn® u¸P. 

9. What is Industrial Policy? 

 öuõÈÀ öPõÒøP GßÓõÀ GßÚ? 

10. Define – Public Utility.  

 ö£õx¨ £¯ß£õk – ÁøμÂ»UPn® u¸P. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the characteristics of a Business? 

  ÁoPzvß ]Ó¨£®\[PÒ ¯õøÁ? 

Or 

 (b) Distinguish between Trade and Commerce. 

  Â¯õ£õμ® ©ØÖ® ÁoP® ÷ÁÖ£kzxP. 

12. (a) What are the factors to be considered in the Ideal 
form of organisation? 

  Aø©¨¤ß ]Ó¢u ÁiÁzvØPõÚ £À÷ÁÖ PõμoPÒ 
¯õøÁ? 

Or 

 (b) State the principles of Co-operation. 

  TmkÓÂß öPõÒPøÍU SÔ¨¤kP. 
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13. (a) Explain the criteria for measuring the size of the 
firm. 

  J¸ ]Ó¢u Aø©¨¤ØPõÚ AÍÄ÷Põ¼øÚ AÍÂkP. 

Or 

 (b) Explain the reasons for survival of SSI.  

  Gì.Gì.I¤ß ÁõÌÁuØPõÚ Põμn[PøÍ ÂÍUSP. 

14. (a) State the causes of Oligarchy.  

  ußÚ»USÊÂß w[SÂøÍUS® Põμn[PøÍU 
SÔ¨¤kP. 

Or 

 (b) Distinguish between Managing Director and the 
Manager. 

  ÷©»õsø© C¯US|º ©ØÖ® ÷©»õÍº ÷ÁÖ£kzxP. 

15.  (a) Write  short notes on “Departmental Undertakings”. 

  “xøÓ\õº¢u {ÖÁÚ®” £ØÔ ]Ö SÔ¨¦ ÁøμP. 

Or 

 (b) Write down the objectives of Public Enterprises.  

  ö£õxzxøÓ {ÖÁÚzvß SÔU÷PõÒPøÍ GÊxP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Describe the objectives of a modern business. 

 J¸ |ÃÚ ÁoPzvß •UQ¯ SÔU÷PõÒPøÍ ÂÍUSP. 

17. Distinguish between Sole Proprietorship and 
Partnership. 

 uÛ E›ø©¯õÍº Aø©¨¦ ©ØÖ® Tmhõsø© Aø©¨¦ 
÷ÁÖ£kzxP. 
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18. Define – Firm. Discuss the factors determining the size of 
the firm.  

 Aø©¨¦ – ÁøμÂ»UPn® u¸P. J¸ ]Ó¢u ÁiÂ»õÚ 
Aø©¨¦ •øÓ {ºn°US® PõμoPøÍ ÂÁõvUP. 

19. Define – Company Management. Explain the problem 
relating to Company management. 

 {Ö© ÷©»õsø© – C»UPn® u¸P. {Ö© ÷©»õsø© 
GvºöPõÒÐ® ¤μa\øÚPøÍ ÂÍUSP. 

20. Explain, in detail, the problem are encountered by the 
Public Enterprises.  

 ö£õxzxøÓ {ÖÁÚ® GvºöPõÒÐ® £À÷ÁÖ 
¤μa\øÚPøÍ Â›ÁõP ÂÍUSP. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define the term Variable and Constant. 

 ©õÔ ©ØÖ® ©õÔ¼ GßÓ ö\õÀø» Áøμ¯Ö. 

2. Define Expression. 

 Expression – Áøμ¯Ö. 

3. Specify the use of Printf( ) and Scanf( ) functions. 

 Printf( ) ©ØÖ® Scanf( ) ö\¯À£õkPÎß £¯ß£õmøh 
SÔ¨¤kP. 

4. Specify the syntax used for ‘for’ statement. 

 ‘for’ AÔUøPUS £¯ß£kzu¨£k® ö\õØöÓõhøμU 
SÔ¨¤kP. 

5. What is function Prototypes? 

 ö\¯À£õmk •ß©õv›PÒ GßÓõÀ GßÚ? 

Sub. Code 
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6. What is library function? 

 ¡»P ö\¯À£õk GßÓõÀ GßÚ? 

7. What is String? 

 \μ® GßÓõÀ GßÚ?  

8. Write the advantages of Pointer? 

 _mi°ß |ßø©PøÍ GÊxP. 

9. What is the purpose of getchar( ) function? 

 getchar( ) ö\¯À£õmiß ÷|õUP® GßÚ? 

10. What is Symbolic Constant? 

 SÔ±mk ©õÔ¼ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) List and explain the various datatypes in C. 

  C CÀ EÒÍ £À÷ÁÖ uμÄ ÁøPPøÍ £mi¯¼mk 
ÂÍUSP. 

Or 

 (b) Describe the various operators in C. 

  C CÀ EÒÍ £À÷ÁÖ B£÷μmhºPøÍ ÂÁ›UP. 

12. (a) Explain the Switch-Case statement with an 
example. 

  _Âma&÷Pì AÔUøPø¯ J¸ GkzxUPõmkhß 
ÂÍUSP. 

Or 

 (b) Describe the various Control Loops with example. 

  £À÷ÁÖ Pmk¨£õmk _ÇÀPøÍ GkzxUPõmkhß 
ÂÁ›. 
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13. (a) Explain any two categories of user defined function 
in C.  

  C CÀ £¯Úº Áøμ¯ÖUP¨£mh ö\¯À£õmiß 
H÷uÝ® Cμsk ÁøPø¯ ÂÍUSP. 

Or 

 (b) Write note on Local and Global variable. 

  EÒÑº ©ØÖ® E»PÍõÂ¯ ©õÔPÒ SÔzx SÔ¨¦ 
GÊxP. 

14. (a) Describe the pointers with example. 

  _miPÒ – GkzxUPõmkhß ÂÍUSP. 

Or 

 (b) Define structures with example.  

  Euõμnzxhß Pmhø©¨¦PøÍ Áøμ¯Ö. 

15.  (a) Explain unformatted I/O functions in C. 

  ÁiÁø©UP¨£hõu I/O ö\¯À£õkPøÍ 
GkzxUPõmkhß ÂÍUSP. 

Or 

 (b) Describe typedef in C. 

  typedef – ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the structure of C program. 

 C {μ¼ß Pmhø©¨ø£ ÂÍUSP. 

17. Explain the decision making statement with example. 

 •iöÁkUS® AÔUøPø¯ GkzxUPõmkhß ÂÍUSP. 
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18. Describe the following : 

 (a) String and character arrays 

 (b) Conditional arrays 

 ¤ßÁ¸ÁÚÁØøÓ ÂÁ›. 

(A) _μ[PÒ ©ØÖ® GÊzx Á›ø\PÒ  

 (B) {£¢uøÚUSm£mh Á›\ø\PÒ 

19. Describe the Sizeof and period Operator in C. 

 Sizeof ©ØÖ® period Operator – ÂÍUSP. 

20. Explain the preprocessor directives in C.  

 •ß ö\¯»õUQ°ß ÁÈ•øÓø¯ ÂÍUSP. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Simple Interest with formula? 

 `zvμzxhß GÎ¯ Ámi GßÓõÀ GßÚ? 

2. What are the types of Annuities? 

 Á¸hõ¢vμ[PÎß ÁøPPÒ ¯õøÁ? 

3. Define ‘Logarithms’. 

 “©hUøP” Gß£øu Áøμ¯ÖUPÄ®. 

4. What is Natural Logarithms? 

 “©hUøP ußø©” GßÓõÀ GßÚ? 

5. What are the types of set theory? 

 ö\m ÷Põm£õk (AÀ»x) öuõS¨¦ ÷Põm£õmiß ÁøPPÒ 
¯õøÁ? 
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6. Briefly explain the demorgan’s Law.  

 öh÷©õºPß Âvø¯ _¸UP©õP ÂÍUPÄ®. 

7. What is theory of Probability?  

 {PÌuPÄU ÷Põm£õk GßÓõÀ GßÚ?  

8. What is Baye’s theorem? 

 “÷£°ß ÷uØÓ®” GßÓõÀ GßÚ? 

9. What is Binomial theorem? 

 “ø£÷Úõª¯À ÷uØÓ®” GßÓõÀ GßÚ? 

10. Why Binomial theorem is used? 

 “C¸ø©U ÷Põm£õk” Hß £¯ß£kzu¨£kQÓx? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Calculate the simple interest on Rs. 8,000 for  
15 months at 6 paise per rupee per month. 

  ©õu® 6 ø£\õ Ãu® 15 ©õu[PÐUS ¹. 8,000&UPõÚ 
GÎ¯ Ámiø¯U PnUQk[PÒ. 

Or 

 (b) A financial asset generates return of Rs. 10,000 at 
the end of each year for 10 years. The required rate 
of return is 7% per year. How much you pay to buy 
this asset?  

  J¸ {va ö\õzx JÆöÁõ¸ Bsk •iÂ¾®  

10  BskPÐUS ¹. 10,000 Á¸©õÚzøu DmkQÓx. 

÷uøÁ¯õÚ Á¸Áõ´ ÂQu® BskUS 7% BS®. 
C¢u ö\õzøu Áõ[P }[PÒ GÆÁÍÄ ö\¾zu 
÷Ásk®. 
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12. (a) Find the value of x , if  

  ( ) ( ) 3log22log45log5log +=−++ xx . 

  ( ) ( ) 3log22log45log5log +=−++ xx GÛÀ 

x &Cß ©v¨ø£U PshÔ¯Ä®. 

Or 

 (b) Solve the following Logarithmic equation 

  0,30log5log55 2 >=+× xxx . 

  ¤ßÁ¸® ©hUøP \©ß£õmøh wºÄ PõnÄ® 

  0,30log5log55 2 >=+× xxx . 

13. (a) In a certain town, there are 5,000 people, out of 

them 1,200 do not subscribe for any paper, 2,700 

subscribe for ‘Hindu’ and 1,800 subscribe, for 

‘Indian express’. Find how many subscribe for both? 

Show the data by Venn diagram. 

  J¸ SÔ¨¤mh |P›À 5,000 ÷£º EÒÍÚº, AÁºPÎÀ 

1,200 ÷£º G¢u £zv›UøPUS® \¢uõ ö\¾zuÂÀø», 

2,700 ÷£º ‘C¢x’ ©ØÖ® 1,800 ÷£º ‘C¢v¯ß 

GUì¤μì’US \¢uõ ö\¾zxQÓõºPÒ. CμsiØS® 

GzuøÚ \¢uõuõμºPÒ Gß£øuU PshÔ²®? öÁs 

Áøμ£h® ‰»® Auß ÂÍUPzøuU PõmhÄ®. 

Or 
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 (b) Write the following sets in Roster Method : 

  (i) The set of all integers between 5 and 12 

  (ii) The set of all positive fraction with 
denominator 3 

  (iii) The set of all odd intergers greater than 6 and 
less than 20. 

  (iv) { }012, 2 =−− xxx  

  (v) { }50; 2 <∈ aNaa  

  (vi) { }2002 ≤<∈ xandNx  

  ¤ßÁ¸® öuõS¨¦PøÍ ÷μõìhº •øÓ°À  
GÊuÄ® : 

  (i) 5 ©ØÖ® 12US Cøh¨£mh AøÚzx •Ê 
GsPÎß öuõS¨¦ 

  (ii) öhßUª÷Úmhº 3 ²hß AøÚzx ÷|º©øÓ 
TÖPÎß öuõS¨¦ 

  (iii) 6&US® Av©õÚ ©ØÖ® 20&US® SøÓÁõÚ 
AøÚzx JØøÓ GsPÎß öuõS¨¦ 

  (iv) { }012, 2 =−− xxx  

  (v) { }50; 2 <∈ aNaa   

  (vi) { }2002 ≤<∈ xNx   

14. (a) Find out the probability of getting 

  (i) Three heads 

  (ii) Atleast two heads and 

  (iii) Atleast 1 head, when 5 coins are tossed 
simultaneously. 

©ØÖ® 
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  {PÌuPÄ ö£ÖÁuØPõÚ \õzv¯U TÖPøÍU 
PshÔ¯Ä®. 

  (i) ‰ßÖ uø»PÒ 

  (ii) SøÓ¢ux Cμsk uø»PÒ ©ØÖ® 

  (iii) SøÓ¢u£m\® 1 uø» J÷μ ÷|μzvÀ  
5 |õn¯[PÒ yUQ GÔ¯¨£k® ÷£õx. 

Or 

 (b) 15 coins are, tossed at a time. Find out the 
probability in a single tossing for the following  
outcomes : 

  (i) Less than 5 heads 

  (ii) 12 or more heads 

  (iii) Atleast 10 heads 

  (iv) No heads 

  15 |õn¯[PÒ J÷μ ÷|μzvÀ yUQ GÔ¯¨£kQßÓÚ. 
¤ßÁ¸® ÂøÍÄPÐUPõÚ {PÌuPøÁ J÷μ 
÷|μzvÀ GÔ¯u¼À PshÔ¯Ä®. 

  (i) 5 uø»PÐUS® SøÓÁõP 

  (ii) 12 AÀ»x AuØS ÷©Ø£mh uø»PÒ 

  (iii) SøÓ¢ux 10 uø»PÒ 

  (iv) uø»PÒ CÀø» 

15. (a) What are the application of Binomial theorem? 

  ø£÷Úõª¯À (or) C¸ø© ÷Põm£õmiß £¯ß£õkPÒ 
¯õx? 

Or 

 (b) Find out the ( ) ( )55
1212 −++ . 

  wºÄ PõnÄ® ( ) ( )55
1212 −++ . 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Find the approximate the time taken for an interest to 
triple itself if interest is compounded continuously at an 
annual rate of 9%. 

 9% Á¸hõ¢vμ ÂQuzvÀ Ámi öuõhº¢x Tmh¨£mhõÀ 
J¸ öuõøP ußøÚ ‰ßÖ ©h[PõP E¯ºzxÁuØPõÚ 
÷uõμõ¯©õÚ ÷|μzøuU PshÔ¯Ä®. 

17. Find the number of digit in the integral part of 

( ) ( )2025 54.2,371.1 . 

 ( ) ( )2025 54.2,371.1 &Cß J¸[Qøn¢u £Sv°À EÒÍ 

C»UP[PÎß GsoUøPø¯U PshÔ¯Ä®. 

18. In a class consisting of 120 students, 30 take income tax, 
40 take accounts and 45 take costings, 15 take income tax 
and accounts, 20 take income tax and costing, 12 take 
accounts and costing, 8 take all the three subjects.  

 How many do not take any of these subjects? How many 
take only one subject? Show Venn diagram. 

 120 ©õnÁºPÒ öPõsh J¸ ÁS¨¤À 30 ÷£º Á¸©õÚ 
Á› £õhvmhzøu²®, 40 ÷£º PnUS £vÂ¯À 
\®£¢u©õÚ £õhzvmhzøu²®, 45 ÷£º ö\»ÄPøÍ²® 
(AhUS Âø» ©ØÖ® ö\»Ä \®£¢u©õÚ 
£õhzvmhzøu²®) 15 ÷£º Á¸©õÚ Á› ©ØÖ® PnUS 
£vÂ°¯À \®£¢u©õÚ £õhzvmhzøu²®, 20 ÷£º 
Á¸©õÚ Á› ©ØÖ® AhUPÂø» ö\»ÄPÒ \®£¢u©õÚ 
£õhzvmhzøu²® GkzxU öPõÒQÓõºPÒ. 12 ÷£º PnUS 
©ØÖ® ö\»Ä 8 ÷£º ‰ßÖ £õh[PøÍ²® GkUQÓõºPÒ. 
CÁØÔÀ G¢u £õhzøu²® GkUPõuÁºPÒ GzuøÚ ÷£º? 
J¸ £õhzøu ©mk® GzuøÚ ÷£º GkUQÓõºPÒ? öÁs 
Áøμ£hzøuU PõmhÄ®. 
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19. Explain the comparing experimental theoretical and 
probability Theoretical. 

 “÷\õuøÚ ÷Põm£õk ©ØÖ® {PÌuPÄ ÷Põm£õk 
J¨¥kPøÍ ÂÍUPÄ®”. 

20. Find the term independent of x  in the expansion of 

( ) 93

3
1

2
321

2

xxx
x

−++ . 

 ( ) 93

3
1

2
321

2

xxx
x

−++ &Â›ÁõUPzvÀ C¸¢x 

_¯õwÚ©õÚ ö\õÀø»U PshÔ¯Ä®. 

  
———————— 



  

S–5109   

B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2024 

Commerce with Computer Application 

Allied : SECRETARIAL PRACTICE 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. State any two qualities of company secretary. 

 {ÖÁÚ ö\¯»õÍ›ß H÷uÝ® Cμsk Sn[PøÍU 
SÔ¨¤hÄ®. 

2. What is ‘secretarial work’? 

 ‘ö\¯»P ÷Áø»’ GßÓõÀ GßÚ? 

3. State any two difference between “public company and 
private company”. 

 “ö£õx {ÖÁÚ® ©ØÖ® uÛ¯õº {ÖÁÚ®” Cøh÷¯ 
H÷uÝ® Cμsk Âzv¯õ\[PøÍU SÔ¨¤hÄ®. 

4. What is joint stock company? 

 Tmk £[S {ÖÁÚ® GßÓõÀ GßÚ? 

5. What is forfeiture of share? 

 £[S £Ô•uÀ GßÓõÀ GßÚ? 

6. What is re-issue of shares? 

 £[SPÒ ©ÖöÁÎ±k GßÓõÀ GßÚ? 
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7. What is proxy in resolutions? 

 wº©õÚ[PÎß ¤Úõª GßÓõÀ GßÚ? 

8. Briefly explain the “special resolution”. 

 “]Ó¨¦ wº©õÚ®” £ØÔ _¸UP©õP ÂÍUSP. 

9. What is minutes book? 

 {PÌÄ ¦zuP® GßÓõÀ GßÚ? 

10. What is drafting notice? 

 “ÁøμÄ AÔÂ¨¦” GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the procedures followed to appointment 
for routine executive secretary? 

  ÁÇUP©õÚ {ºÁõPa ö\¯»õÍº {¯©ÚzvÀ 
¤ß£ØÓ¨£k® |øh•øÓPÒ GßÚ? 

Or 

 (b) What are the dismissed rights of routine executive 
secretary? 

  ÁÇUP©õÚ {ºÁõP ö\¯»õÍ›ß £o}UP® 
E›ø©PÒ ¯õøÁ? 

12. (a) Explain the “Company formation”. 

  “{ÖÁÚ & E¸ÁõUP®” £ØÔ ÂÍUPÄ®. 

Or 

 (b) What are the controller of capital issue under 
industrial development of regulation act? 

  öuõÈ»P A¤Â¸zv ©ØÖ® JÊ[S•øÓ \mhzvß 
RÌ ‰»uÚ öÁÎ±miß Pmk¨£õmhõÍº GßÓõÀ 
GßÚ? 
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13. (a) Briefly explain “Law and procedure of meeting”. 

  “\mh® ©ØÖ® \¢v¨¦ |øh•øÓ” Gß£øu 
_¸UP©õP ÂÍUPÄ®. 

Or 

 (b) What are the documents required to e-filling 
return? 

  ªß&÷Põ¨¦£kzu¼À GßöÚßÚ BÁn[PÒ 
÷uøÁ¨£kQÓx Gß£øu £ØÔ TÓÄ®. 

14. (a) Explain the kinds of shares. 

  £[SPÎß ÁøPPøÍ £ØÔ ÂÍUPÄ®. 

Or 

 (b) Explain the “rules for debate” and “voting” in 
meeting. 

  TmhzvÀ “ÂÁõu[PÒ” ©ØÖ® “ÁõUöPk¨¦UPõÚ” 
ÂvPøÍ ÂÍUPÄ®. 

15.  (a) What are the advantages of “drafting notice”? 

  “ÁøμÄ AÔÂ¨¤ß” |ßø©PÒ GßÚ? 

Or 

 (b) How do to “preparation of agenda”? 

  “{PÌa] {μø»” GÆÁõÖ u¯õ›¨£õ´? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. What are the duties and responsibilities of company 
secretary? 

 {ÖÁÚa ö\¯»õÍ›ß Phø©PÒ ©ØÖ® ö£õÖ¨¦PÒ 
¯õøÁ? 
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17. What are the procedure followed to be appointment of 
company secretary? 

 “{ÖÁÚa ö\¯»õÍº” {¯©ÚzvÀ ¤ß£ØÓ¨£k® 
|øh•øÓPÒ ¯õøÁ? 

18. What are the difference between “share certificate and 
share warrants”? 

 “£[S \õßÔuÌ ©ØÖ® £[S EzvμÁõu[PÐUS®” 
Cøh°»õÚ ÷ÁÖ£õk GßÚ? 

19. What are the legal requirements, quorum and issue 
undertaken at annual general meeting? 

 Á¸hõ¢vμ ö£õxU TmhzvÀ ÷©ØöPõÒÍ¨£k® \mhz 
÷uøÁPÒ, ÷Põμ® ©ØÖ® öÁÎ±kPÒ ¯õøÁ? 

20. Explain the procedure for preparation and signing of 
minutes of book. 

 ¦zuP[PøÍz u¯õ›¨£uØS®, øPö¯õ¨£ªkÁuØPõÚ 
|øh•øÓPøÍ ÂÍUSP. 

 

  
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Write the meaning of debentures. 

 Phß £zvμ[PÎß Aºzuzøu GÊx[PÒ. 

2. What is a minimum fresh issue? 

 SøÓ¢u£m\ ¦v¯ £[S öÁÎ±k GßÚ? 

3. What is mean by acquisition of business? 

 ÁoPzøu øP¯P¨£kzxuÀ GßÓõÀ GßÚ? 

4. Write a short note on vendor suspense account. 

 ÂØ£øÚ¯õÍº A|õ©zx PnUQÀ J¸ ]Ö SÔ¨ø£ 
GÊuÄ®. 

5. What is meant by interim dividend? 

 CøhUPõ» DÄzöuõøP GßÓõÀ GßÚ? 

6. What is a preliminary expense? 

 •ußø© ö\»Ä GßÓõÀ GßÚ? 
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7. Write the meaning of net asset methods. 

 {Pμ ö\õzx •øÓPÎß Aºzuzøu GÊuÄ®. 

8. What is absorption? 

 {ÖÁÚ® A£P›¨¦ GßÓõÀ GßÚ? 

9. Write the meaning of voluntary winding up. 

 Â¸¨£U Pø»¨¦ Gß£uß ö£õ¸øÍ GÊx[PÒ. 

10. Who are preferential creditors? 

 •ßÝ›ø© PhÜ¢÷uõº ¯õº? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Chand Ltd. issued 1,000 12% Debentures of Rs.100 
each on 1-1-2011 at a discount of 10%, redeemable 
at premium of 10%. Give journal entries relating to 
issue of debentures and debentures interest for the 
period ending 31-12-2011 assuming that the 
interest was payable half yearly on 30th June and 
31st December. Follows calendar year as its 
accounting year. 

  \¢z ¼ªöhm 1,000 12% PhÜmk¨ £zvμ[PøÍ 
1&1&2011 AßÖ 10% uÒÐ£i°À 10% ¤Ÿª¯zvÀ 
«möhkUPUTi¯ ÁøP°À ¹.100 ÁÇ[Q¯x.  áúß 
30 ©ØÖ® i\®£º 31 B® ÷uvPÎÀ Aøμ¯õskUS 
Ámi ö\¾zu¨£k® GÚU P¸v 31&12&2011 
•iÁøh²® Põ»UPmhzvÀ EÒÍ £zvμ[PÒ ©ØÖ® 
Phß £zvμ[PÒ Ámi ÁÇ[SÁx öuõhº£õÚ 
SÔ¨÷£k EÒÏkPøÍU öPõk[PÒ. Põ»shº 
Bsøh Auß PnUS BshõP¨ ¤ß£ØÖQÓx. 

Or 
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 (b) United India Co. Ltd. issued 1,00,000 shares which 
were underwritten as follows: A – 40%; B–30%;  
C –20%. The under writers made firm underwriting 
as follows: A – 7,500 shares; B — 5,000 shares;  
C – 12,500 shares. The total subscription excluding 
firm underwriting but including marked 
applications were for 50,000 shares. The marked 
application were as under: A – 20,000; B–12,500 
shares; C–5,000 shares. Prepare a statement 
showing the liability of underwriters. 

  ²øÚöhm C¢v¯õ ÷Põ. ¼ªöhm 1,00,000 
£[SPøÍ öÁÎ°mhx, AøÁ RÌUPshÁõÖ 

GÊu¨£mhÚ: A-40%; B&30%; C-20%.  RÌUPsh 
GÊzuõÍºPÒ EÖv¯õÚ GÊzxÖvø¯ ¤ßÁ¸©õÖ 

ö\´uÚº: A-7,500 £[SPÒ; B&5,000 £[SPÒ; 

C&12,500 £[SPÒ.  {ÖÁÚzvß GÊzxÖvø¯z 
uÂºzx, SÔUP¨£mh Âsn¨£[PÒ Em£h ö©õzu 
\¢uõ 50,000 £[SPÐUPõÚx.  SÔUP¨£mh 

Âsn¨£® ¤ßÁ¸©õÖ: A-20,000; B&12,500 

£[SPÒ; C&5,000 £[SPÒ.  J¨£¢uuõμºPÎß 
ö£õÖ¨ø£U Põmk® AÔUøPPø¯z u¯õ›UPÄ®. 

12. (a) Vasanth Ltd was incorporated on 1-4-92 to take 
over the business of Kumar Brothers from 1-1-92 
From the following information, Calculate sales 
ratio and Gross profit; Sales during the period 
January – December 1992 amounted to Rs. 72,000. 
The trend of sales was a under: January  
and February – half the average sales in each 
month May, June and July - average sales in each 
month October – average sales November and 
December – half the average sales in each month. 
Cost of goods sold Rs. 18,000. 
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  Á\¢z ¼ªöhm 1&4&92 AßÖ S©õº ¤μuºêß 
ÁoPzøu 1&1&92 •uÀ øP¯P¨£kzxÁuØPõP 
CønUP¨£mhx, ¤ßÁ¸® uPÁÀPÎ¼¸¢x, 
ÂØ£øÚ ÂQu® ©ØÖ® ö©õzu »õ£zøuU 
PnUQk[PÒ; áÚÁ›&i\®£º 1992 Põ»PmhzvÀ 
ÂØ£øÚ ¹.72,000.  ÂØ£øÚ°ß ÷£õUS SøÓÁõP 
C¸¢ux: áÚÁ› ©ØÖ® ¤¨μÁ› & JÆöÁõ¸ 
©õu•® ÷©, áúß ©ØÖ® áúø» ©õu[PÎß  
\μõ\› ÂØ£øÚ°À £õv & AU÷hõ£º ©õu \μõ\› 
ÂØ£øÚ & \μõ\› ÂØ£øÚ |Á®£º ©ØÖ® i\®£º & 
JÆöÁõ¸ ©õu•® \μõ\› ÂØ£øÚ°À £õv.  
ÂØP¨£mh ö£õ¸mPÎß Âø» ¹.18,000. 

Or 

 (b) How do you apportion various expenses and 
incomes between pre and post incorporation 
periods? 

  J¸[Qøn¨¦US •¢øu¯ ©ØÖ® ¤¢øu¯ 
Põ»[PÐUS Cøh°À £À÷ÁÖ ö\»ÄPÒ ©ØÖ® 
Á¸©õÚ[PøÍ GÆÁõÖ £[Rk ö\´QÕºPÒ? 

13. (a) You are given the following extracts of ledger 
balances taken from Vihar Co. Ltd., for the year 
ending 31st March 2015. Prepare a statement of  
P & L a/c as per revised Schedule III.  

Particulars Rs. Particulars Rs. 

Excise Duty 8,000 Machinery 25,000

Provision for tax 10,000 Directors 
remuneration 

20,000

Depreciation on 
Machinery 

3,300 Factory expenses 2,500

Sundry expenses 7,000 Sales 4,55,000

Rent 4,000 Returns inward 5,000

Salaries 7,500 Purchases 2,35,000

Materials 
consumed 

90,000 Closing stock 75,000
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Particulars Rs. Particulars Rs. 

Interest on 
Investment 

5,000 Opening stock 82,000

Rent received 3,000 Wages 30,000

Motive power 12,000 Bank loan 40,000

Transport 
charges 

1,000 Interest on Bank 
loan 

4,000

  ©õºa 31, 2015 CÀ •iÁøh²® BsiØPõÚ Âíõº 
÷Põ. ¼ªöhm {ÖÁÚzvhª¸¢x GkUP¨£mh 
÷£÷μk C¸¨¦PÎß ¤ßÁ¸® \õÖPÒ E[PÐUS 
ÁÇ[P¨£mkÒÍÚ.  v¸zu¨£mh AmhÁøn  
III Cß £i P & L a/c Cß AÔUøPø¯z u¯õ›UPÄ®.  

ÂÁμ[PÒ ¹. ÂÁμ[PÒ ¹. 

P»õÀ Á› 8,000 C¯¢vμ[PÒ 25,000

Á› Âv¨¦ 10,000 C¯USÚºPÎß 
\®£Í® 

20,000

C¯¢vμ[PÎÀ 
÷u´©õÚ® 

3,300 öuõÈØ\õø» 
ö\»ÄPÒ 

2,500

£À÷ÁÖ 
ö\»ÄPÒ 

7,000 ÂØ£øÚ 4,55,000

ÁõhøP 4,000 EÒv¸¨£® 5,000

\®£Í® 7,500 öPõÒ•uÀ 2,35,000

‰»¨ö£õ¸Ò 
ö\»Ä 

90,000 CÖva \μUQ¸¨¦ 75,000

•u½miß «uõÚ 
Ámi 

5,000 öuõhUP \μUQ¸¨¦ 82,000

ÁõhøP Qøhzux 3,000 T¼PÒ 30,000

E¢x \Uv 12,000 Á[Q Phß 40,000

÷£õUSÁμzx 
ö\»Ä 

1,000 Á[Q PhÝUPõÚ 
Ámi 

4,000

Or 
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 (b) What is the maximum rate of marginal 
remuneration in case of a public limited company? 

  ö£õx Áøμ¯ÖUP¨£mh {ÖÁÚzvÀ {ºÁõP 
Fv¯zvß AvP£m\ ÂQu® GßÚ? 

14. (a) The following scheme of reconstruction has been 
approved by D Ltd. 

  (i) The shareholders to receive in lieu of their 
present holding of 60,000 shares of Rs. 10 each 
fully paid the following. 

   (1) Fully paid new equity shares equal to 
1/3rd of their holding. 

   (2) 8% preference shares fully paid to the 
extent of 1/5th of the above new equity 
shares. 

   (3) Rs. 60,000 8 % secured debentures. 

  (ii) The debenture holders’ total claim of 
Rs.75,000 to be reduced to Rs.25,000.  This 
will be satisfied by the issue of 2,500, 8% 
preference shares of Rs.10 each fully paid 

  (iii) An issue of Rs.50,000, 6% debentures was 
made and allotted, payment for the same 
having been received in cash. 

  (iv) The goodwill which should at Rs.3,00,000 was 
written down to Rs.50,000 and plant which 
stood at Rs.1,00,000 was written down to 
Rs.75,000. 

  (v) The freehold premises which should at 
Rs.1,75,000 was written down by Rs.75,000. 
Pass Journal entries. 
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  ¤ßÁ¸® ¦Úμø©¨¦z vmh® D Ltd BÀ 

A[RP›UP¨£mkÒÍx. 

  (i) £[SuõμºPÒ uØ÷£õx øÁzv¸US® 60,000 

£[SPÐUS¨ £v»õP ¹.10 JÆöÁõßÖ® 

¤ßÁ¸ÁÚÁØøÓ •Êø©¯õP ö\¾zv¯x. 

   (1) •Êø©¯õP ö\¾zu¨£mh ¦v¯ 

\õuõμn¨ £[SPÒ AÁØÔß øP°¸¨¤À 

1/3US \©®. 

   (2) ÷©÷» EÒÍ ¦v¯ \õuõμn¨ £[SPÎÀ 

1/5 AÍÂØS •Êø©¯õP ö\¾zu¨£mh 

8% •ßÝ›ø©¨ £[SPÒ. 

   (3) ¹.60,000 8% £õxPõUP¨£mh Phß 

£zvμ[PÒ. 

  (ii) Phß £zvμ® øÁzv¸¨£ÁºPÎß ö©õzu 

÷Põ›UøP¯õÚ ¹.75,000 ¹£õ¯õP 

SøÓUP¨£k®.  25,000.  Cx 2,500, 8% 

•ßÝ›ø©¨ £[SPÒ JÆöÁõßÖ® ¹.10 

•Êø©¯õP ö\¾zu¨£mhx. 

  (iii) J¸ öÁÎ±k ¹.50,000, 6% PhÜmk¨ 

£zvμ[PÒ ö\´¯¨£mk JxUP¨£mhÚ, 

AuØPõÚ £n® öμõUP©õP¨ ö£Ó¨£mhx. 

  (iv) |Øö£¯º ¹.3,00,000 ¹£õ´ GßÖ 

GÊu¨£mhx.  50,000 ©ØÖ® Bø» 

¹.1,00,000 ¹£õ´ GßÖ GÊu¨£mhx. 75,000  

  (v) _u¢vμ©õÚ ÁÍõP® ¹.1,75,000 ¹£õ´ 

GÊu¨£mhx. 75,000.  

   SÔ¨÷£k GÊx[PÒ. 

Or 
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 (b) Distinguish between external and internal 

reconstruction. 

  öÁÎ¨¦Ó ©ØÖ® EÒ ¦Úμø©¨¦US Cøh°À 

÷ÁÖ£k[PÒ GÊx[PÒ. 

15.  (a) Explain the role of liquidator of a company. 

  J¸ {ÖÁÚzvß Pø»¨£õÍ›ß £[øP ÂÍUS[PÒ. 

Or 

 (b) From the following details ascertain unsecured 

creditors to be shown in statement of affaris: 

creditors for goods – Rs.80,000; bills payable – 

Rs.8,000; Loan from bank (unsecured) – Rs.20,000; 

Bank over draft – Rs.6,000; Loan on securities of 

machinery – Rs.40,000. Estimated realizable value 

of machinery – Rs.32,000; contingent liabilities – 

Rs.31,000 (20% expected to rank) and Rs.25,000  

(10% expected to rank) 

  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x AL£õ›ì AÔUøP°À 

Põmh¨£h ÷Ási¯ £õxPõ¨£ØÓ PhÚõÎPøÍU 

PshÔ¯Ä®: Phß C¢÷uõº&¹.80,000; ö\¾zu 

÷Ási¯ ©õØÖa^mk & ¹.8,000; Á[Q°¼¸¢x 

Phß (£õxPõ¨£ØÓx) ¹.20,000; Á[Q ÷©À Áøμ 

£ØÖ ¹.6,000; C¯¢vμ[PÎß £zvμ[PÒ «uõÚ 

Phß – ¹.40,000.  C¯¢vμ[PÎß ©v¨¤h¨£mh 

©v¨¦ – ¹.32,000; uØö\¯»õÚ ö£õÖ¨¦PÒ – 

¹.31,000 (uμÁ›ø\°À 20% Gvº£õºUP¨£kQÓx) 

©ØÖ® ¹.25,000 (uμÁ›ø\°À 10% 

Gvº£õºUP¨£kQÓx) 
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 Part C  (3 × 10 = 30) 

Answer three questions. 

16. X Co. Ltd. had 10,000 equity shares of Rs.10 each fully 
paid and 5,000 7% redeemable preference shares of Rs.10 
each fully paid, redeemable at a premium of 10%. It had a 
credit balance of Rs.40,000 on profit and loss account and 
Rs.50,000 on general reserve. The company resolved: 

 (a) To issue 3,000 equity shares of Rs.10 each at Rs.12 
per shares in order to provide part of the funds for 
the redemption of the preference shares. 

 (b) To redeem the preference shares. 

 (c) To make a bonus issue of one share for every two 
held by the existing equity shareholders from the 
general reserve. The resolutions were carried into 
effect. 

 You are required to prepare ledger account and also show 
the share capital and reserve of a company and balance 
sheet. 

 X Co. Ltd. 10,000 \õuõμn¨ £[SPÒ JÆöÁõßÖ® ¹.10 
•Êø©¯õP ö\¾zu¨£mhx ©ØÖ® 5,000 7% «m¦ 
ö\´¯UTi¯ •ßÝ›ø©¨ £[SPÒ JÆöÁõßÖ® ¹.10 
•Êø©¯õP ö\¾zu¨£mk, 10% ¤Ÿª¯zvÀ v¸®£¨ 
ö£Ó»õ®.  »õ£ |èhU PnUQÀ ¹.40,000 ©ØÖ® ö£õx 
C¸¨¤À ¹.50,000 Phß C¸¨¦ C¸¢ux.  {ÖÁÚ® 
wº©õÛzux: 

 (A) •ßÝ›ø©¨ £[SPøÍ «m£uØPõP {v°ß J¸ 
£Svø¯ ÁÇ[SÁuØPõP, J¸ £[SUS ¹.12 Ãu® 
¹.10 Ãu® 3,000 \õuõμn¨ £[SPøÍ öÁÎ°kuÀ. 

 (B) •ßÝ›ø©¨ £[SPøÍ «möhkUP. 

 (C) ö£õx C¸¨¤À C¸¢x uØ÷£õxÒÍ £[S 
£[SuõμºPÒ øÁzv¸US® JÆöÁõ¸ Cμsk 
£[SUS® J¸ ÷£õÚì ÁÇ[SuÀ. wº©õÚ[PÒ 
A©¾US Á¢uÚ. 

 }[PÒ ÷£÷μk PnUøPz u¯õ›UP ÷Ásk®, ÷©¾® J¸ 
{ÖÁÚzvß £[S ‰»uÚ® ©ØÖ® C¸¨¦ ©ØÖ® C¸¨¦ 
{ø»ø¯²® Põmh ÷Ásk®. 
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17. Sumo Ltd. was incorporated to take over the business of 

Jayanth on and from 1st January 1998.  The following is 

the balance sheet of Jayanth as on 31st December 1997. 

Liabilities  Rs. Assets Rs. 

Capital a/c 75,000 Land and Buildings 1,20,000

Loan creditors 90,000 Plant and 

Machinery 

21,000

Trade creditors 54,000 Furniture 15,000

  Sundry debtors 63,000

 2,19,000  2,19,000

 The company takes over the business with the fixed 

assets and loan creditors on the following basis. 

 (a) Depreciate Land & Buildings and Plant & 

Machinery and furniture by 15%. 

 (b) The value of goodwill is estimated at Rs. 67,800; 

 The company realised Rs. 60,000 from sundry debtors, as 

agent of the vendors in full settlement and discharged all 

the trade creditors by paying Rs. 50,000. 

 The loan creditors accepted 9% preference shares of  

Rs. 100 in discharge of the loans. On realisation of debts 

and discharge of liabilities, the total amount due to the 

vendor was settled by issue of fully paid equity shares of 

Rs. 10 each. Pass the journal entries for the above in the 

books of the company. 
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 _÷©õ ¼ªöhm, 1998 B® Bsk áÚÁ› 1B® ÷uv 

©ØÖ® Auß ¤ÓS öá¯¢vß ÁoPzøu 

øP¯P¨£kzxÁuØPõP CønUP¨£mhx.  31 i\®£º 1997 

AßÖ öá¯¢vß C¸¨¦{ø» ¤ßÁ¸©õÖ. 

ö£õÖ¨¦PÒ  ¹. ö\õzxUPÒ ¹. 

‰»uÚ® 75,000 {»® ©ØÖ® 

Pmih[PÒ 
1,20,000

Phß PhÚõÎPÒ 90,000 Bø» ©ØÖ® 

C¯¢vμ[PÒ 
21,000

ÁºzuP 

PhÜ¢÷uõº 
54,000 ©μa\õ©õßPÒ 15,000

  £À÷ÁÖ PhÚõÎPÒ 63,000

 2,19,000  2,19,000

 {ÖÁÚ® ¤ßÁ¸® Ai¨£øh°À {ø»¯õÚ ö\õzxUPÒ 

©ØÖ® Phß ÁÇ[S|ºPÐhß ÁoPzøu 

GkzxUöPõÒQÓx: 

 (A) {»® ©ØÖ® Pmih[PÒ ©ØÖ® Bø» ©ØÖ® 

C¯¢vμ[PÒ ©ØÖ® ©μa\õ©õßPÒ BQ¯ÁØÔß 

©v¨ø£ 15% SøÓUPÄ®. 

 (B) |Øö£¯º ©v¨¦ ¹.67,800; 

 {ÖÁÚ® £À÷ÁÖ PhÚõÎPÎhª¸¢x ¹.60,000, 

ÂØ£øÚ¯õÍºPÎß •PÁμõP •Êz wºÄ ©ØÖ® AøÚzx 

ÁºzuP PhÜ¢÷uõøμ²® ¹.50,000. 

 Phß ö£ØÓÁºPÒ ¹.9% •ßÝ›ø©¨ £[SPøÍ 

HØÖUöPõshÚº.  ¹.100 PhßPøÍ ö\¾zxuÀ.  

PhßPøÍ {øÓ÷ÁØÔ, ö£õÖ¨¦PøÍ {øÓ÷ÁØÖ®÷£õx,  

ÂØ£øÚ¯õÍ¸US ö\¾zu ÷Ási¯ ö©õzuz öuõøP 

JÆöÁõßÖ® ¹.10.  {ÖÁÚzvß ¦zuP[PÎÀ ÷©÷» 

EÒÍÁØÖUPõÚ ÷£÷μk EÒÏkPøÍ AÝ¨£Ä®. 
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18. From the following is the trial balance of Vishal Ltd., 

prepare the balance sheet of the company as on March 

2015 as per Schedule Ill of the Companies Act.   

Trial Balance as on 31st March 2015 

Debit  Rs. Credit Rs. 

Advances to 

employees 

3,00,000 Equity Share 

Capital 

52,00,000

Cash at Bank 3,14,320 Capital Reserve 60,000

Furniture and 

Fixture 

7,50,000 Loan from SBI 8,00,000

Discount on issue 

of shares 

(unwritten off) 

25,000 Provision for 

Employees Welfare 

Fund 

6,00,000

Patents 10,00,000 Proposed Dividend 1,64,000

Premises 41,09,940 Short term loan from 

bank 

4,90,200

Trade 

Receivables 

3,66,240 Unpaid dividend 64,800

Advance Tax 50,000 Profit and Loss A/c 42,980

8% Govt. Bonds 3,36,000 Bills Payable 85,100

Stock in trade 3,55,600 Sundry Creditors 1,00,020

 76,07,100  76,07,100
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 ¤ßÁ¸ÁÚÁØÔ¼¸¢x, ÂåõÀ ¼ªöhm {ÖÁÚzvß 
C¸¨¦{ø»U SÔ¨ø£, {ÖÁÚ[PÒ \mhzvß 

AmhÁøn III Cß £i, ©õºa 31, 2015 CÀ {ÖÁÚzvß 

C¸¨¦{ø»U SÔ¨ø£z u¯õ›UPÄ®. 

31 ©õºa 2015 C¸¨¦{ø»U SÔ¨¦ 

£ØÖ ¹. ÁμÄ ¹. 

£o¯õÍºPÐUS 
•ßTmi÷¯ 
ö\¾zv ö\»Ä 

3,00,000 \õuõμn £[S 
‰»uÚ® 

52,00,000

Á[Q öμõUP® 3,14,320 ‰»uÚ C¸¨¦ 60,000

©μa\õ©õßPÒ 
©ØÖ® 

ö£õ¸zxuÀ 

7,50,000 SBI C¼¸¢x Phß 8,00,000

£[SPÎß 
öÁÎ±miÀ 
uÒÐ£i 

(GÊu¨£hõux) 

25,000 £o¯õÍº |» {v 
JxURk 

6,00,000

Põ¨¦›ø©PÒ 10,00,000 •ßö©õÈ¯¨£mh 
DÄzöuõøP 

1,64,000

ÁÍõP® 41,09,940 Á[Q°À C¸¢x 

SÖQ¯ Põ» Phß 
4,90,200

ÁºzuP ÁμÄPÒ 3,66,240 ö\¾zu¨£hõu 
DÄzöuõøP 

64,800

•ßTmi¯ Á› 50,000 »õ£ |mh PnUS 42,980

8% Aμ_ 
£zvμ[PÒ 

3,36,000 ö\¾zu ÷Ási¯ 
©õØÖa^mk 

85,100

ÁºzuP \μUQ¸¨¦ 3,55,600 £Ø£» PhÜ¢÷uõº 1,00,020

 76,07,100  76,07,100
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19. The Green Ltd. is absorbed by the Yellow Ltd. Following 
are the Balance Sheets of the two companies, taken after 
revaluation of their assets on a uniform basis. 

Liabilities Green 
Ltd Rs. 

 Yellow 
Ltd Rs. 

 Assets Green 
Ltd Rs. 

Yellow 
Ltd Rs. 

Authorized 
Capital 
(Shares of 
Rs.100 each) 

1,00,000  60,00,000  Sundry Assets 17,83,500 44,00,000

Paid up 
Capital 9,000 
shares of 
Rs.100 each 

7,20,000  –  Cash at Bank 20,000 1,30,500

Rs.80 paid 
up 

–  24,00,000  Preliminary 
Expenses (not 
written off) 

15,000 –

40,000 
shares of 
Rs.100 each  

6,50,000  13,00,000  Discount on 
Issue of 
Shares (not 
written off) 

– 20,000

Rs. 60 paid 
up 

2,78,500  6,40,000   

Reserve 
Fund 

1,40,000  2,10,500   

Profit and 
Loss Account 

30,000  –   

Creditors      

Bills Payable 18,18,500  45,50,500   18,18,500 45,50,500

 The holder of every three shares in the Green Ltd. Was to 
receive five shares in the Yellow Ltd. Plus as much cash 
as in necessary to adjust the right of shareholders of both 
the companies in accordance with the intrinsic values of 
the shares as per respective balance sheets. 

 Journalize the above transactions in the books of Yellow 
Ltd. And prepare the Balance Sheet of Yellow Ltd. Giving 
effect to the above scheme of absorption. 
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 QŸß ¼ªöhm. ö¯À÷»õ ¼ªöhm ‰»® ÷\ºzxU 
öPõÒÍ¨£mhx.  ¤ßÁ¸® C¸ {ÖÁÚ[PÎß 
C¸¨¦{ø»U SÔ¨¦PÒ, AÁØÔß ö\õzxUPøÍ ^μõÚ 
Ai¨£øh°À ©Ö©v¨¥k ö\´u ¤ÓS GkUP¨£mhx. 

ö£õÖ¨¦PÒ Green 
Ltd Rs. 

 Yellow 
Ltd Rs. 

 ö\õzxUPÒ Green 
Ltd Rs. 

Yellow 
Ltd Rs. 

A[RP›UP¨£mh 
‰»uÚ® 
(£[SPÒ 
JÆöÁõßÖ® 
¹.100) 

1,00,000  60,00,000  £À÷ÁÖ 
ö\õzxUPÒ 

17,83,500 44,00,000

ö\¾zu¨£mh 
‰»uÚ® 9,000 
£[SPÒ 
JÆöÁõßÖ® 
¹.100 

7,20,000  –  Á[Q°À £n® 20,000 1,30,500

¹.80 
ö\¾zu¨£mhx 

–  24,00,000  •ußø© ö\»Ä 
(GÊu¨£hÂÀø»)

15,000 –

40,000 £[SPÒ 
u»õ ¹.100 

6,50,000  13,00,000  uÒÐ£i £[SPÒ 
öÁÎ±k 
(GÊu¨£hÂÀø»)

– 20,000

¹.60 
ö\¾zu¨£mhx 

2,78,500  6,40,000   

C¸¨¦ {v 1,40,000  2,10,500   

»õ£® ©ØÖ® 
CÇ¨¦ P/S 

30,000  –   

Phß 
öPõkzuÁºPÒ 

     

ö\¾zu 
÷Ási¯ ¤ÀPÒ 

18,18,500  45,50,500   18,18,500 45,50,500

 Green LtdÀ EÒÍ JÆöÁõ¸ ‰ßÖ £[SPøÍ²® 
øÁzv¸¨£Áº, ©g\Ò ¼ªöhm {ÖÁÚzvÀ I¢x 
£[SPøÍ¨ ö£Ó ÷Ásk®.  ÷©¾® C¸ {ÖÁÚ[PÎß 
£[SuõμºPÎß E›ø©ø¯²® A¢u¢u¨ £[SPÎß 
EÒÍõº¢u ©v¨¦PÐUS HØ£ \›ö\´ÁuØSz ÷uøÁ¯õÚ 
£nzøu¨ ö£Ó ÷Ásk®. 

 ö¯À÷»õ ¼ªöhm ¦zuP[PÎÀ ÷©ØTÔ¯ 
£›ÁºzuøÚPøÍ áºÚ¼ì ö\´¯Ä®.  ÷©¾® ö¯À÷»õ 
¼ªöhmiß C¸¨¦{ø»U SÔ¨ø£z u¯õ›UPÄ®.  ÷©÷» 
EÒÍ ÷\ºzxU öPõÒÍÀ vmhzvØS ÂøÍøÁ AÎUQÓx. 
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20. From the data relating to a company (in voluntary 
liquidation), you are asked to prepare liquidator’s final 
statement of account. (a) Cash with liquidator (after all 
assets are realised and secured creditors and debenture 
holders are paid) is Rs. 6,73,800. (b) Preferential creditors 
to be paid Rs. 30,000. (c) Other unsecured creditors  
Rs. 2,15,000. (d) 4,000 6% preference shares of Rs. 100 
each, fully paid. (e) 2,000 equity shares of Rs. 100 each, 
Rs. 75 per share paid up. (f) 6,000 equity shares of Rs. 
100 each, Rs. 60 per share paid up. (g) Liquidator’s 
remuneration 2% on preferential and other unsecured 
creditors. (h) Preference dividends were in arrears for 2 
years. 

 J¸ {ÖÁÚ® öuõhº£õÚ uμÄPÎ¼¸¢x (ußÚõºÁU 
Pø»¨¦), }[PÒ Pø»¨£õÍ›ß CÖvU PnUS 
AÔUøPø¯z u¯õ›US®£i ÷PmP¨£kQÕºPÒ.   
(A) ¼UÂ÷hmh›h® EÒÍ öμõUP® (AøÚzx 
ö\õzxUPÐ® Enμ¨£mk, £zvμ¨£kzu¨£mh 
PhÚõÎPÒ ©ØÖ® Phß £zvμ® øÁzv¸¨£ÁºPÒ 
ö\¾zu¨£mh ¤ÓS) ¹.6,73,800.  (B) •ßÝ›ø© Phß 
ÁÇ[S£ÁºPÐUS ¹.30,000. (C) ©ØÓ £õxPõ¨£ØÓ 
PhÚõÎPÒ ¹.2,15,000. (D) 4,000 6% Â¸¨£©õÚ 
£[SPÒ u»õ ¹.100, •Êø©¯õP ö\¾zu¨£mhx.   
(E) 2,000 \õuõμn¨ £[SPÒ u»õ ¹.100 J¸ £[QØS 75 
ö\¾zu¨£mhx. (F) 6,000 \õuõμn¨ £[SPÒ u»õ 
¹.100, J¸ £[QØS ¹.60 ö\¾zu¨£mhx. (G) •ßÝ›ø© 
©ØÖ® ¤Ó £õxPõ¨£ØÓ PhÚõÎPÐUS ¼UÂ÷hmh›ß 
Fv¯® 2%. (H) •ßÝ›ø© DÄzöuõøP 2 BskPÍõP 
{¾øÁ°À C¸¢ux. 

  
———————— 
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Answer all questions. 

1. What is media convergence? 
 FhP J¸[Qøn¨¦ GßÓõÀ GßÚ? 

2. Write about global network. 
 E»PÍõÂ¯ ö|möÁõºU £ØÔ GÊx. 

3. What is uniform resource locators? 
 PoÛ°À J÷μ ©õv›¯õÚ Buõμ C¸¨¤h[PÒ GßÚ? 

4. Short notes on smart cards. 
 ì©õºm PõºkPÒ £ØÔ ]ÖSÔ¨¦ GÊx. 

5. What is virtual organisation? 
 ö©´{Pº Aø©¨¦ GßÓõÀ GßÚ? 

6. What is EDI? 
 CiI GßÓõÀ GßÚ? 

7. What is router? 
 PoÛ vø\Â GßÓõÀ GßÚ? 
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8. Short notes on hardware. 

 PoÛ Áßö£õ¸Ò ]ÖSÔ¨¦ GÊx. 

9. Short notes on internet relay chat. 

 Cøn¯ ›÷»÷\m £ØÔ GÊxP. 

10. What is web pages protocol? 

 Áø»¨£UP ö|Ô•øÓ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the consumer oriented applications of  
E-Commerce. 

  ªßÚÝ ÁoPzvÀ ~Pº÷Áõº \õº¢u £¯ß£õkPÒ 
ÂÁ›. 

Or 

 (b) State the functions of E-commerce. 

  ªßÚÝ ÁoPzvß ö\¯À£õkPÎß {ø» GßÚ? 

12. (a) What is e-cash? What are its properties? 

  C&£n® GßÓõÀ GßÚ ©ØÖ® Auß £s¦PÒ £ØÔ 
GÊx. 

Or 

 (b) What are the benefits of hypermedia documents? 

  øí¨£º«i¯õ BÁn[PÎß |ßø©PÒ GßÚ? 

13. (a) Explain supply chain management. 

  Â{÷¯õP \[Q¼ ÷©»õsø© £ØÔ ÂÍUSP. 

Or 

 (b) What are the advantages of EDI? 

  CiI ß |ßø©PÒ GßÚ? 
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14. (a) Write the history of the internet. 

  Cøn¯ Áμ»õÖ £ØÔ GÊx. 

Or 

 (b) Write the functions of telephone companies. 

  öuõø»÷£] {ÖÁÚ[PÎß ö\¯À£õk £ØÔ GÊx. 

15.  (a) Give notes on E-mail, WWW, FTP, URL schemes. 

  C&ö©°À, WWW, FTP, URL vmh[PÒ £ØÔ GÊx. 

Or 

 (b) Write about the web browser. 

  Cøn¯ E»õÂ £ØÔ GÊx. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the internet applications. 

 Cøn¯ £¯ß£õkPÒ £ØÔ ÂÁ›. 

17. Explain the various types of electronic payment system. 

 öÁÆ÷ÁÖ ÁøP¯õÚ ªßÚÝ Pmhn •øÓ £ØÔ ÂÁ›. 

18. Describe the legal, security and privacy issues of EDI. 

 EDI À \mh, £õxPõ¨¦ ©ØÖ® uÛ²›ø©ø¯ ÂÁ›. 

19. Explain the logistics of internet service provider. 

 Cøn¯ ÷\øÁ ÁÇ[S|ºPÎß uÍÁõh[PøÍ ÂÍUSP. 

20. Describe about the search engines? And give example. 

 ÷ukö£õÔø¯ £ØÔ ÂÁ› ©ØÖ® Euõμn® öPõk. 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Tally? 

 - Tally GßÓõÀ GßÚ? 

2. What is the role of computers in accounting? 

 PnUQ¯¼À PoÛPÎß £[S GßÚ? 

3. What is the Gateway of Tally, and what does it provide 
access to? 

 ÷h¼°ß ~øÇÁõ°À GßÓõÀ GßÚ ©ØÖ® Ax GuØS 
AqPø» ÁÇ[SQÓx? 

4. How do you create groups using the multiple modes in 
Tally? 

 Tally&°À EÒÍ £» •øÓPøÍ¨ £¯ß£kzv SÊUPøÍ 
GÆÁõÖ E¸ÁõUSÁx? 

5. What is the purpose of the balance sheet in Tally? 

 Tally CÀ C¸¨¦{ø»U SÔ¨¤ß ÷|õUP® GßÚ? 

Sub. Code 
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6. How is the Profit and Loss Account used in Tally? 

 Tally&°À »õ£® ©ØÖ® |èhU PnUS GÆÁõÖ 
£¯ß£kzu¨£kQÓx? 

7. How do you generate Inventory Reports and Statements 
in Tally? 

 Tally&°À \μUS AÔUøPPÒ ©ØÖ® AÔUøPPøÍ GÆÁõÖ 
E¸ÁõUSÁx? 

8. What is the purpose of the Cash Flow Statement in 
Tally? 

 Tally&°À £n¨¦ÇUP AÔUøP°ß ÷|õUP® GßÚ? 

9. What is ASCII? 

 ASCII GßÓõÀ GßÚ? 

10. What is Tally ODBC Connectivity? 

 Tally ODBC Cøn¨¦ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions. Choosing either (a) or (b). 

11. (a) Evaluate the significance of double-entry 
accounting. 

  Cμmøh¨ £vÂ¯À •øÓ PnUQ¯À 
•UQ¯zxÁzøu ©v¨¤kP. 

Or 

 (b) Describe the process of ledger creation in Tally. 

  Tally CÀ ÷£÷μk E¸ÁõUS® ö\¯À•øÓø¯ ÂÁ›. 
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12. (a) List the various types of vouchers available in Tally. 

  Tally&°À QøhUS® £À÷ÁÖ ÁøP¯õÚ 
ÁÄa\ºPøÍ¨ £mi¯¼kP. 

Or 

 (b) What is the function of the ‘Restart Numbering’ 
feature in Tally? 

  Tally&°À ©ÖöuõhUP® GsquÀ A®\zvß 
ö\¯À£õk GßÚ? 

13. (a) Distinguish between an optional voucher and a 
regular voucher in Tally. 

  Tally °À Â¸¨£ ÁÄa\º ©ØÖ® ÁÇUP©õÚ ÁÄa\º 
BQ¯ÁØøÓ ÷ÁÖ£kzxP. 

Or 

 (b) How do you create a sales order voucher in Tally? 

  Tally&°À ÂØ£øÚ Bºhº ÁÄa\øμ G¨£i 
E¸ÁõUSÁx? 

14. (a) Examine the process and benefits of  
multi-accounting printing in Tally. 

  Tally &°À £» PnUS Aa]h¼ß ö\¯À•øÓ 
©ØÖ® £»ßPøÍ Bμõ²P. 

Or 

 (b) Analyze the various types of printing configuration 
options available in Tally and their impact on report 
generation. 

  Tally CÀ QøhUS® £À÷ÁÖ ÁøP¯õÚ Aa]k® 
Pmhø©¨¦ Â¸¨£[PøÍ²® AÔUøP E¸ÁõUPzvÀ 
AÁØÔß uõUPzøu²® £S¨£õ´Ä ö\´¯Ä®. 

15.  (a) Explain Internet Publishing in the context of Tally. 

  Tally Cß `Ç¼À Cøn¯ öÁÎ±møh ÂÍUSP. 

Or 

 (b) Describe the security control features in Tally. 

  Tally CÀ EÒÍ £õxPõ¨¦U Pmk¨£õmk A®\[PøÍ 
ÂÁ›. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss the role of Tally in modern accounting practices. 

 |ÃÚ PnUQ¯À |øh•øÓPÎÀ ÷h¼°ß £[øP¨ £ØÔ 
ÂÁõv. 

17. Explain the method of creating stock categories and stock 
items in Tally using both single and multiple modes. 

 JØøÓ ©ØÖ® £» •øÓPøÍ¨ £¯ß£kzv ÷h¼°À \μUS 
ÁøPPÒ ©ØÖ® \μUS E¸¨£iPøÍ E¸ÁõUS® •øÓø¯ 
ÂÍUSP. 

18. Evaluate the functionality of the Balance Sheet in Tally 
and its role in financial analysis. 

 ÷h¼°À C¸¨¦{ø»U SÔ¨¤ß ö\¯À£õk ©ØÖ® {v¨ 
£S¨£õ´ÂÀ Auß £[øP ©v¨¤hÄ®. 

19. Explain the purpose and importance of generating a Trial 
Balance in Tally and how it assists in financial 
management. 

 Tally CÀ ÷\õuøÚ \©{ø»ø¯ E¸ÁõUSÁuß ÷|õUP® 
©ØÖ® •UQ¯zxÁzøu²®, {v {ºÁõPzvÀ Ax GÆÁõÖ 
EuÄQÓx Gß£øu²® ÂÍUSP. 

20. Describe the process and benefits of uploading data via 
FTP and creating WebPages in Tally. How do these 
functionalities support online business operations? 

 FTP ÁÈ¯õP uμøÁ¨ £v÷ÁØÖ® ö\¯À•øÓ ©ØÖ® 
£»ßPøÍ ÂÁ›UPÄ® ©ØÖ® ÷h¼°À Cøn¯¨ 
£UP[PÒ E¸ÁõUPÄ®. C¢u ö\¯À£õkPÒ Bßø»ß 
ÁoP ö\¯À£õkPøÍ GÆÁõÖ Bu›UQßÓÚ? 

  
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define costing. 

 AhUPÂø» GßÓõÀ GßÚ? 

2. What is a cost sheet? 

 AiUPÂø»¨ £mi¯À GßÓõÀ GßÚ? 

3. Write a short note on Economic Order Quantity. 

 ö£õ¸Íõuõμ Bºhº AÍÄ SÔzu J¸ ]Ö SÔ¨ø£ 
GÊxP. 

4. What is a perpetual inventory system? 

 {μ¢uμ \μUS PnURmk •øÓ GßÓõÀ GßÚ? 

5. Give a short note on idle time. 

 Idle time SÔzu J¸ ]Ö SÔ¨ø£ ÁÇ[S[PÒ. 

6. What do you understand by labour turnover? 

 öuõÈ»õÍº _ÇØ] GßÓõÀ GßÚ? 
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7. What is an overhead? 

 ÷©Àö\»Ä GßÓõÀ GßÚ? 

8. State the classification of overhead according to function. 

 ö\¯À£õk Ai¨£øh°À ÷©Àö\»Âß ÁøP¨£õk GßÚ. 

9. What is job costing? 

 ÷Áø» AhUPÂø» GßÓõÀ GßÚ? 

10. What is process costing? 

 ö\¯À•øÓ AhUPÂø» GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions. Choosing either (a) or (b). 

11. (a) What are the objectives of cost accounting? 

  AhUPÂø»U PnURmiß ÷|õUP[PÒ GßÚ? 

Or 

 (b) Distinguish between financial accounting and cost 
accounting. 

  {v PnURmkUS® AhUPÂø»U PnURmkUS® 
Cøh°»õÚ ÷ÁÖ£õmøh SÔ¨¤kP. 

12. (a) From the following particulars, calculate Re-order 
level, Minimum level and Maximum level. 

  Normal usage  100 units per day 

  Minimum usage  60 units per day 

  Maximum usage  130 units per day 

  Reordering Quantity 5,000 units 

  Re-order period  25 to 30 days 



S–5113 

  

  3

  R÷Ç EÒÍ ÂÁμ[PÎ¼¸¢x, ©ÖÁ›ø\ {ø», 
SøÓ¢u£m\ {ø» ©ØÖ® AvP£m\{ø»ø¯ 
PnUQk[PÒ. 

  \õuõμn £¯ß£õk  vÚ•® 100 A»SPÒ 

  SøÓ¢u£m\ £¯ß£õk vÚ•® 60 A»SPÒ 

  AvP£m\ £¯ß£õk vÚ•® 130 A»SPÒ 

  ©ÖÁ›ø\ AÍÄ  5,000 A»SPÒ 

  ©ÖÁ›ø\ Põ»®  25 •uÀ 30 |õmPÒ 

Or 

 (b) Calculate Economic Order quantity from the 
following information. Also state the number of 
orders to be placed in a year. 

  Consumption of materials per annum 10,000 units 

  Order placing costs per order Rs. 50 

  Cost per unit of raw materials Rs. 2 

  Storage costs 8% on average in inventory. 

  R÷Ç EÒÍ uPÁ¼¼¸¢x ]UPÚ öPõÒ•uÀ AÍøÁ 
PnUQk[PÒ. ÷©¾®, J¸ BsiÀ GzuøÚ 
BhºPÒ øÁUP¨£h ÷Ásk® Gßøu²® SÔ¨¤kP. 

  Bsk JßÖUS ö£õ¸mPÎß ~PºÄ 10,000 
A»SPÒ 

  JÆöÁõ¸ Bºh¸US® ö\»ÄPÒ ¹. 50 

  ‰»¨ö£õ¸mPÎß A»S JßÔß Âø» ¹. 2 

\μõ\› \μUQÀ ÷\ª¨¦ ö\»ÄPÒ 8%. 

13. (a) Explain the causes leading to idle time. 

  Idle time &ØS ÁÈÁSUS® Põμn[PøÍ ÂÍUSP. 

Or 
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 (b) From the following particulars supplied by the 
personnel department of a firm, calculate labour 
turnover. 

  Total number of employees at the beginning of the 
month 2,010 

  Total number of employees at the end of the month 
1,990 

  Number of employees who are recruited during the 
month 100 

  Number of employees who are left during the month 
50. 

  J¸ {ÖÁÚzvß £o¯õÍº xøÓ¯õÀ ÁÇ[P¨£mh 
R÷Ç EÒÍ ÂÁμ[PÎ¼¸¢x öuõÈ»õÍº _ÇØ]ø¯ 
PnUQk[PÒ. 

  ©õuzvß öuõhUPzvÀ ö©õzu FÈ¯ºPÒ 2,010 

  ©õuzvß CÖv°À ö©õzu FÈ¯ºPÒ 1,990 

  ©õuzvß ÷£õx öuõÈ»õÍºPÒ ÷\º¨¦ ö\´¯¨£mh 

FÈ¯ºPÒ 100 

©õuzvß ÷£õx Â»Q¯ öuõÈ»õÍºPÒ 50. 

14. (a) X Ltd. has three production departments (A, B, C) 
and two service departments (D, E). Following 
information related to the month of January 2022. 

 Rs. 

Rent 10,000

Depreciation of Machine 20,000

Motive power 3,000

Indirect wages 23,000

Lighting  1,200
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  Additional Information 

 A B C D E 

Area occupied (Sq. Ft.) 2,000 2,500 3,000 2,000 500 

Light points 10 15 20 10 5 

Direct wages (Rs.) 3,000 2,000 3,000 1,500 500 

Horse power 60 30 50 10 – 

Value of machine (Rs.) 60,000 80,000 1,00,000 5,000 5,000

  Prepare overhead distribution statement. 

  X Ltd. ‰ßÖ EØ£zv xøÓPÒ (A, B, C) ©ØÖ® 
Cμsk ÷\øÁ xøÓPÒ (D, E). öPõshx. 2022 
áÚÁ› ©õu® öuõhº£õÚ R÷Ç EÒÍ uPÁÀ. 

 ¹. 

ÁõhøP 10,000

C¯¢vμzvß ÷u´©õÚ® 20,000

÷©õmiÆ £Áº 3,000

©øÓ•P Fv¯® 23,000

ÂÍUS 1,200

  TkuÀ uPÁÀ 

 A B C D E 

£μ¨£ÍÄ (\xμ Ai) 2,000 2,500 3,000 2,000 500 

ÂÍUS ¦ÒÎPÒ 10 15 20 10 5 

÷|μi Fv¯® (¹.) 3,000 2,000 3,000 1,500 500 

Svøμ \Uv 60 30 50 10 – 

C¯¢vμzvß ©v¨¦ (¹.) 60,000 80,000 1,00,000 5,000 5,000

  ÷©À ö\»Âß £QºÄ AÔUøPø¯ u¯õ›UPÄ®. 

Or 
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 (b) Explain the various bases of apportionment of 

overheads to departments. 

  xøÓPÐUS ÷©À ö\»ÄPøÍ¨ £QºÁuØPõÚ 

£À÷ÁÖ Ai¨£øhPøÍ ÂÍUS[PÒ. 

15.  (a) Explain briefly how normal loss, abnormal loss and 

abnormal gains should be treated in cost accounts. 

  \õuõμn CÇ¨¦, A\õuõμn CÇ¨¦ ©ØÖ® A\õuõμn 

»õ£[PøÍ AhUPÂø»U PnUSPÎÀ GÆÁõÖ 

øP¯õÍ ÷Ásk® Gß£øu _¸UP©õP ÂÍUSP. 

Or 

 (b) A factory follows job costing. The following cost data 

are obtained from its books for the year ending 31st  

December, 2001: 

 Rs. 

Direct materials 90,000

Direct wages 75,000

Profit 60,900

Selling and Distribution overheads 52,500

Administration overheads 42,000

Factory overheads 45,000

  Prepare a job cost sheet and find out overhead 

recovery rates and percentage of profit on sales.  
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  J¸ öuõÈØ\õø» ÷Áø» ö\»ÃÚ •øÓø¯¨ 
¤ß£ØÖQÓx. Av¼¸¢x ö£Ó¨£mh ö\»ÄU 
uμÄPÒ ¤ßÁ¸©õÖ: 

 ¹. 

÷|μi ö£õ¸mPÒ 90,000
÷|μi Fv¯[PÒ 75,000
»õ£® 60,900
ÂØ£øÚ ©ØÖ® Â{÷¯õP ÷©»vP ö\»ÄPÒ 52,500
{ºÁõP ÷©»vP ö\»ÄPÒ 42,000
öuõÈØ\õø» ÷©»vP ö\»ÄPÒ 45,000

  J¸ ÷Áø» ö\»ÄzuõøÍ u¯õ›zx, ÷©»vP 
ö\»ÄPøÍ «mS® ÂQu[PÒ ©ØÖ® ÂØ£øÚ°À 
»õ£zvß \uÃuzøu PshÔ¯Ä®. 

 Part C  (3 × 10 = 30) 
Answer any three questions. 

16. From the following particulars prepare a cost sheet: 

 Rs. 

Stock of Raw materials as on 1st Dec. 2023 25,000

Stock of Finished Goods as on 1st Dec. 2023 17,300

Stock of Raw Materials as on 31st Dec. 2023 26,200

Stock of Finished goods as on 31st Dec. 2023 15,700

Purchase of Raw materials 21,900

Carriage on purchases 1,100

Work-in-progress as on 1st Dec. 2023 8,200

Work-in-progress as on 31st Dec. 2023 9,100

Sales 72,300

Direct wages 17,200

Direct expenses 1,200

Factory expenses 9,100

Administrative expenses 3,200

Selling and Distribution expenses 4,200
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 R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÎß Ai¨£øh°À J¸ 
AhUPÂø»¨ £mi¯À u¯õ›UPÄ®. 

 ¹. 

2023 i\®£º 1 B® ÷uv {¾øÁ°À EÒÍ 
‰»¨ £õ¸mPÎß £[S 

25,000

2023 i\®£º 1 B® ÷uv {¾øÁ°À EÒÍ 
u¯õ›UP¨£mh ö£õ¸mPÎß £[S 

17,300

2023 i\®£º 31 B® ÷uv {¾øÁ°À EÒÍ 
‰»¨ö£õ¸mPÎß £[S 

26,200

2023 i\®£º 31 B® ÷uv {¾øÁ°À EÒÍ 
u¯õ›UP¨£mh ö£õ¸mPÎß £[S 

15,700

‰»¨ö£õ¸mPÎß öPõÒ•uÀ 21,900
öPõÒ•uÀ Ási ö\»Ä 1,100

2023 i\®£º 1 B® ÷uv {¾øÁ°À EÒÍ 
÷Áø» {ø» 

8,200

2023 i\®£º 31 B® ÷uv {¾øÁ°À EÒÍ 
÷Áø»{ø» 

9,100

ÂØ£øÚ 72,300
÷|μi Fv¯[PÒ 17,200
÷|μi ö\»ÄPÒ 1,200
öuõÈØ\õø» ö\»ÄPÒ 9,100
{ºÁõP ö\»ÄPÒ 3,200
ÂØ£øÚ ©ØÖ® Â{÷¯õP ö\»ÄPÒ 4,200

17. Prepare Stores Ledger Account on the basis of FIFO and 
LIFO from the following information: 

2020 Jan 1 Purchased 600 units @ Rs. 30 per unit 

 12 Purchased 200 units @ Rs. 35 per unit 

 18 Issued 300 units 

 20 Purchased 500 units @ Rs. 40 per unit 

 22 Issued 300 units 



S–5113 

  

  9

 R÷Ç öPõkUP¨£mkÒÍ uPÁÀPÎß Ai¨£øh°À FIFO 
©ØÖ® LIFO •øÓPÎß Ai¨£øh°À Pøh PnUS 
u¯õ›UPÄ®. 

2020 
áÚÁ› 

1 öPõÒ•uÀ 600  A»SPÒ @ ¹. 30 
A»S JßÖUS 

 12 öPõÒ•uÀ 200  A»SPÒ @ ¹. 35 
A»S JßÖUS 

 18 öÁÎ±k 300 A»SPÒ 

 20 öPõÒ•uÀ 500 A»SPÒ @ ¹. 40 A»S 
JßÖUS 

 22 öÁÎ±k 300 A»SPÒ 

18. Calculate the earnings of a worker under Halsey 
Premium Plan and Rowan Scheme. 

 Time allowed = 48 hours 

 Time taken = 40 hours 

 Rate per hour = Rs. 10 

 íõÀê ¤Ÿª¯® vmh® ©ØÖ® ÷μõÁß vmhzvß RÌ J¸ 
öuõÈ»õÎ°ß Á¸©õÚzøu PnUQhÄ®. 

 AÝ©vUP¨£mh ÷|μ® = 48 ©o 

 Gkzu ÷|μ® = 40 ©o 

 ©oUS ÂQu® = ¹. 10 

19. A company has three production departments and two 
service departments, and for a period the departmental 
distribution summary has the following totals: 

 Production Departments: 

 P1 — Rs. 80,000; P2— Rs. 70,000; and P3 – Rs. 50,000 

 Service Departments: 

 S1 — Rs. 23,400; and S2 — Rs. 30,000 
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 The expenses of the service departments are charged out 
on a percentage basis as follows: 

 P1 P2 P3 S1 S2 

S1 20% 40% 30% – 10%

S2 40% 20% 20% 20% – 

 Prepare a statement showing the apportionment of two 
service departments expenses to Production departments 
by Repeated Distribution Method. 

 J¸ {ÖÁÚ® ‰ßÖ EØ£zv xøÓPÒ ©ØÖ® Cμsk 
÷\øÁzxøÓPÒ öPõskÒÍx ©ØÖ® J¸ Põ»zvØS xøÓ 
Â{÷¯õP_¸UP® ¤ßÁ¸® ö©õzu[PøÍ öPõskÒÍx: 

 P1 — ¹. 80,000; P2— ¹. 70,000; ©ØÖ® P3 – ¹. 50,000 

 ÷\øÁ xøÓPÒ: 

 S1 — ¹. 23,400; ©ØÖ® S2 — ¹. 30,000 

 ÷\øÁ xøÓPÎß ö\»ÄPÒ ¤ßÁ¸® \uÃu 
Ai¨£øh°À ÂvUP¨£kQßÓÚ. 

 P1 P2 P3 S1 S2 

S1 20% 40% 30% – 10%

S2 40% 20% 20% 20% – 

 «sk® Â{÷¯õP•øÓ ‰»® Cμsk ÷\øÁ xøÓPÎß 
ö\»ÄPøÍ EØ£zv xøÓPÐUS £Qº¢xPõmk® 
AÔUøPø¯ u¯õ›UPÄ®. 

20. A product passes through three distinct processes to 
completion. These processes are numbered respectively I, 
II and III. During the week ended 15th January 2021, 500 
units are produced. The following information is 
obtained: 

 Process I Process II Process III

Direct Materials 3,500 1,600 1,500 

Direct Labour 2,500 2,000 2,500 
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 The overhead expenses for the period were Rs. 1,400 
apportioned to the processes on the basis of wages. No 
work-in-progress or process stocks existed at the 
beginning or at the end of the week. Prepare Process 
account. 

 J¸ u¯õ›¨¦ ‰ßÖ uÛzxÁ©õÚ ö\¯À•øÓPÒ ‰»® 
{øÓÄ ö£ÖQÓx. C¢u ö\¯À•øÓPÒ •øÓ÷¯ I, II 
©ØÖ® III GÚ Gs öPõkUP¨£mkÒÍÚ. 2021 áÚÁ› 15 
B® ÷uv •iÁøh¢u ÁõμzvÀ, 500 A»SPÒ 
u¯õ›UP¨£kQßÓÚ. ¤ßÁ¸® uPÁÀ ö£Ó¨£mkÒÍx. 

 ö\¯À•øÓ I ö\¯À•øÓ II ö\¯À•øÓ III

÷|μi ö£õ¸mPÒ 3,500 1,600 1,500 
÷|μi öuõÈ»õÍº 2,500 2,000 2,500 

 Põ»zvØS ÷©»vP ö\»ÄPÒ ¹. 1,400 Fv¯ 
Ai¨£øh°À ö\¯À•øÓUS £Qμ¨£mkÒÍx. Áõμzvß 
öuõhUPzvÀ AÀ»x •iÂÀ G¢u ÷Áø» {ø» AÀ»x 
ö\¯À•øÓ £[SPÐ® CÀø». ö\¯À•øÓ PnUøP 
u¯õ›UPÄ®. 

  
———————— 



  

S–5114   

B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2024 

Fifth Semester 

Commerce with Computer Application 

GOODS AND SERVICE TAX (GST) 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is an indirect tax? 

 ©øÓ•P Á› GßÓõÀ GßÚ? 

2. What is the all-pervasive nature of indirect taxes? 

 ©øÓ•P Á›PÎß AøÚzx £μÁ»õÚ ußø© GßÚ? 

3. What are the key benefits of implementing GST in India? 

 C¢v¯õÂÀ GST A©À£kzxÁuõÀ HØ£k® •UQ¯ 
|ßø©PÒ GßÚ? 

4. Which taxes were subsumed under the CGST Act, 2017? 

 CGST \mh®, 2017 ß RÌ G¢u Á›PÒ CønUP¨£mhÚ? 

5. What is the purpose of the composition scheme under 
GST? 

 GST °ß RÌ EÒÍ P»øÁ vmhzvß ÷|õUP® GßÚ? 
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6. What is meant by the time of supply in GST? 

 GST °À Â{÷¯õP ÷|μ® GßÓõÀ GßÚ? 

7. What is mean by inward and outward supply under 
CGST? 

 CGST Cß RÌ EÒ÷|õUQ ©ØÖ® öÁÎ¨¦Ó Â{÷¯õP® 
GßÓõÀ GßÚ? 

8. What is the role of the Advance Ruling Authority under 
GST? 

 GST °ß RÌ •ßTmi÷¯ BÐ® Bøn¯zvß £[S 
GßÚ? 

9. What are the salient features of the Union Territory GST 
(UTGST) Act, 2017? 

 ³Û¯ß ¤μ÷u\ GST (UTGST) \mh®, 2017 Cß •UQ¯ 
A®\[PÒ GßÚ?  

10. How does the levy and collection of IGST differ from 
CGST and SGST? 

 IGST Á› ©ØÖ® Á`À CGST ©ØÖ® SGST °¼¸¢x 
GÆÁõÖ ÷ÁÖ£kQÓx? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the special features of indirect tax levies? 

  ©øÓ•P Á› Âv¨¦PÎß ]Ó¨¦ A®\[PÒ ¯õøÁ? 

Or 

 (b) How has the reform in indirect taxation, 
particularly GST, impacted the Indian economy? 

  ©øÓ•P Á›Âv¨¤À ^ºv¸zu®, SÔ¨£õP âGìi, 
C¢v¯¨ ö£õ¸ÍõuõμzvÀ GÆÁõÖ uõUPzøu 
HØ£kzv²ÒÍx? 
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12. (a) Explain the significance of the dual GST system in 
promoting cooperative federalism. 

  TmkÓÄ Tmhõm]ø¯ ÷©®£kzxÁvÀ Cμmøh 
âGìi Aø©¨¤ß •UQ¯zxÁzøu ÂÍUPÄ®. 

Or 

 (b) What are the key differences in the supply of goods 
and services under CGST and SGST? 

  CGST ©ØÖ® SGST °ß RÌ ö£õ¸mPÒ ©ØÖ® 
÷\øÁPÒ ÁÇ[SÁvÀ EÒÍ •UQ¯ ÷ÁÖ£õkPÒ 
GßÚ? 

13. (a) What are the requirements for accounts and records 
keeping Under GST. 

  GST °ß RÌ øÁzv¸US® PnUSPÒ ©ØÖ® 
£vÄPÐUPõÚ ÷uøÁPÒ GßÚ? 

Or 

 (b) Explain the registration process under GST and the 
significance of migration from the previous tax 
regime. 

  GST °ß RÌ £vÄ ö\´²® ö\¯À•øÓ ©ØÖ® 
•¢øu¯ Á› •øÓ°¼¸¢x Ch®ö£¯º¢uuß 
•UQ¯zxÁzøu ÂÍUPÄ®. 

14. (a) Describe the assessment procedures and the role of 
audits in ensuring compliance under GST. 

  GST °ß RÌ CnUPzøu EÖv ö\´ÁvÀ ©v¨¥mk 
|øh•øÓPÒ ©ØÖ® uoUøPPÎß £[øP 
ÂÁ›UPÄ®. 

Or 

 (b) Discuss the transitional provisions under GST and 
the treatment of unutilized CENVAT credit. 

  âGìi°ß RÌ Cøh{ø» ÂvPÒ ©ØÖ® 
£¯ß£kzu¨£hõu CENVAT Qöμimiß ]Qaø\ 
£ØÔ ÂÁõvUPÄ®. 
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15.  (a) Discuss the administration and process for the levy 
and collection of IGST. 

  IGST Á› ©ØÖ® Á`¾UPõÚ {ºÁõP® ©ØÖ® 
ö\¯À•øÓ £ØÔ ÂÁõvUPÄ®. 

Or 

 (b) What are the exemptions provided under the Union 
Territory GST (UTGST) Act, 2017? 

  ³Û¯ß ¤μ÷u\ âGìi (IGST) \mh®, 2017 ß RÌ 
ÁÇ[P¨£mh Â»USPÒ GßÚ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Describe the key reforms in indirect taxation system in 
India. 

 C¢v¯õÂÀ ©øÓ•P Á›Âv¨¦ •øÓ°ß •UQ¯ 
^ºv¸zu[PøÍ ÂÁ›UPÄ®. 

17. Discuss the roles and responsibilities of officers involved 
in the administration of GST. 

 GST {ºÁõPzvÀ Dk£mkÒÍ AvPõ›PÎß £õzvμ[PÒ 
©ØÖ® ö£õÖ¨¦PøÍ¨ £ØÔ ÂÁõvUPÄ®. 

18. Discuss the provisions related to the levy and collection of 
CGST and SGST. 

 CGST ©ØÖ® SGST Á› ©ØÖ® Á`À öuõhº£õÚ 
ÂuPøÍ¨ £ØÔ ÂÁõvUPÄ®. 

19. Discuss the significance of anti-profiteering measures in 
GST and their impact on ensuring fair pricing. 

 GST °À »õ£® DmkuÀ Gvº¨¦ |hÁiUøPPÎß 
•UQ¯zxÁ® ©ØÖ® {¯õ¯©õÚ Âø»ø¯ EÖv 
ö\´ÁvÀ AÁØÔß uõUP® £ØÔ ÂÁõvUPÄ®. 

20. Discuss the provisions of the Compensation to States Act, 
2017. 

 ©õ{»[PÐUPõÚ CÇ¨¥k \mh®, 2017 Cß ÂvPøÍ¨ 
£ØÔ ÂÁõvUPÄ®. 
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